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General Abilityl

Group Number : 1
Group Id : 976755468
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Abilityl

Section Id : 976755805
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755946
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 97675513749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following letter series :
GL, , AF, XC

Options :
1. % CJ
2. ¥ DI
3. % EK
4. % FL

Question Number : 1 Question Id : 97675513749 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad sfer e d T U I1d o

GL,  ,AF XC
Options :

1. % CJ

2. % DI

3. % EK

4. % FL

Question Number : 2 Question Id : 97675513750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some letters are numbered as 1,2,3.4,5 and 6. In the options, four possible arrangements of these numbers are given. Choose the option so that
the letters form a meaningful word.

DELOBN

123456

Options :

1. ¥ 534612
2. % 341265
3. % 145362
4. % 153462

Question Number : 2 Question Id : 97675513750 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T3 R BT 1,2,3,4,5 3R 6 H piford foran man g1 fasped] B, 39 T=msif &t IR YHIfad srawiTd &) 772 § | 39 sy o1 oo &3 o
31&R T H1dfeb Teg ST T |

DELOBN
123456

Options :

1. ¥ 534612
2. % 341265
3. % 145362




4. % 153462

Question Number : 3 Question Id : 97675513751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following series :
N5R, SOW, , Cl14G

Options :

1. ¥ XI12B
2. % Y11C
3. % Z12D
4. % WI2A

Question Number : 3 Question Id : 97675513751 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafoRaa skaen o g ue J1d &y
N5R, SOW, , C14G

Options :

1. ¥ X12B

2. % YIIC

3. % Z12D

4. % WI12A

Question Number : 4 Question Id : 97675513752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following series :
TWZ, QTW, NQT, LNR, HKN

Options :

1. ® QTW

2. % NQT



3. ¥ LNR
4. * HKN

Question Number : 4 Question Id : 97675513752 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad sjaar & 7ad U I1d &1
TWZ, QTW, NQT, LNR, HKN

Options :

1. % QTW

2. % NQT

3. ¥ LNR

4. % HKN

Question Number : 5 Question Id : 97675513753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
Spinach : Vegetable :: Cow : ?

Options :

1. ¥ Mammal

2. % Qrass

3. % Milk

4. % Carnivorous

Question Number : 5 Question Id : 97675513753 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fAdHed T 997 B S ik UG ¥ 341 UHR ¥ Yafdd g o JR ¥ 3R UG Ugd Ug ¥ Hafed g
UIde : gealt :: T : 2

Options :

1. ¢ WHYR




2. % g
3. % gy
4. % Argyeh

Question Number : 6 Question Id : 97675513754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the pair that is related on the same basis to the pair given in the question.
Bark : Dog :: ?

Options :

1. % Cow : Moo

2. % Buzz : Bees

3. % Hive : Bees

4. % QGrass : Cow

Question Number : 6 Question Id : 97675513754 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I SIS BT I B S 0 H &1 715 Sl W JHH PR F Fafdd 3|
%T:W::?

Options :

1. % T AHAT

2. ¢ YAYATES : AYHiRad

3. % &1 GYHfRgY

4. % Y MY

Question Number : 7 Question Id : 97675513755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third term on the same basis as the second term is related to the first term.
HOV : MTA :: CLP : ?

Options :



1. % JSX
2. % RV
3. % GPT
4. v HQU

Question Number : 7 Question Id : 97675513755 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 faded &1 79 & S R U ¥ I TSR T Taifdrd § o TR J g¥R1 S Ugd Ue § Yefid g

HOV : MTA :: CLP : ?
Options :

1. % JSX

2. % IRV

3. % GPT

4. ¥ HQU

Question Number : 8 Question Id : 97675513756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IF SING is coded as QGLE, then what is the code for DANCE?
Options :

1. = ZWIYA

2. % CWJBD

3. * AXKZB

4. ¥ BYLAC

Question Number : 8 Question Id : 97675513756 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe SING BT QGLE & ¥U H pifed far T 8, @ DANCE & oIt e g2
Options :

1. ® ZWIYA



2. % CWJBD
3. ¥ AXKZB
4. ¥ BYLAC

Question Number : 9 Question Id : 97675513757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If WHEAT is coded as 58512, BREAK is coded as 29512, then what is the code for LUCKY?
Options :

1. # 43427

2. # 44438

3. % 33327

4. % 34338

Question Number : 9 Question Id : 97675513757 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe WHEAT 1 58512 & ¥U H HIfSd fba1 701 8, BREAK P1 29512 & ¥U H HIfSd fpar a1 ], @ LUCKY & foft s 82
Options :

1. % 43427

2. % 44438

3. ¥ 33327

4, % 34338

Question Number : 10 Question Id : 97675513758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If PEAR is coded as 7519, then what is the code for TANK?
Options :

1. ¥ 2152

2. % 1041

3. % 2164



4. # 1052

Question Number : 10 Question Id : 97675513758 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g PEAR BT 7519 & ¥ H Sifad fohal T, A TANK & folT &1 F1 87
Options :

1. ¥ 2152

2. % 1041

3. % 2164

4. % 1052

Question Number : 11 Question Id : 97675513759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language,

nigzil means moveably

dijzil means movement

dijpin means embarassment

which word would mean 'embarassing'?

Options :

1. ¥ rizpin
2. % bihdjj
3. % zilbuy
4. % qirnig

Question Number : 11 Question Id : 97675513759 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Ffgd Bl Hiw 4,

nigzil T 3 g moveably

dijzil b1 3 Qf % movement



dijpin T 3{ of % embarassment
al Ty e BT 37 of 'embarassing' %‘?

Options :

1. ¥ rizpin
2. ® bihdij
3. ® zilbuy
4. ® qirnig

Question Number : 12 Question Id : 97675513760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If P $ Q means P is the father of Q; P ! Q means P is the mother of Q and P * Q means P is the daughter of Q, which of the following shows that
D is son-in-law of A?

Options :

1.¥ AIBSC*D
2. AS$B!C*D
3. A$B*C!D
4. # AIB*C$D

Question Number : 12 Question Id : 97675513760 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gEPsQPTAAT P, QBIUME; P QBT IAR P, QB AT G 3R P * QBT 3Rf B P, QB adT &, dl FuRRad A ¥ dHexiarg fF D, A
CAAR IR

Options :

I.* AIB$SC*D

2. AS$B!C*D

3. A$SB*C!D

4, # A'B*C$D

Question Number : 13 Question Id : 97675513761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Pawan scored more than Rashi. Yashika scored as much as Disha. Lalita scored less than Manisha. Rashi scored more than Yashika. Manisha
scored less than Disha. Who scored the highest?

Options :

1. # Disha
2. % Lalita
3. # Rashi
4. ¥ Pawan

Question Number : 13 Question Id : 97675513761 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ua- = AR ST WHR fhar| afRresT = 1= a1 81 TR foar| aferdr 3 71 ¥ &H R far| IR A a1 ¥ 31 WHR fean
HAT A =1 T HH WHR [ha1| 99 D fhg B han

Options :
1. % fa=m
2. % ferd
3. % M
4. ¥ Uddq

Question Number : 14 Question Id : 97675513762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jeevan, Agni, Gauri, Ema, Vinod and Fatima are sitting around a round table facing the centre. Fatima is to the left of Gauri, who is opposite
Agni, Vinod is between Agni and Jeevan. Who is to the left of Ema?

Options :

1. # Vinod
2.9 Agni
3. # Fatima
4. # Gauri

Question Number : 14 Question Id : 97675513762 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shtae, ¥, TRY, T, famiie SiR wIfam g o1 3R He B Ueb el Tl & TRI 3R 96 & | Wi, TR & 18 3R 931 8, S 4% & Jma
2, famite, aifd SR Sfta & Sa B a1 81 v & 91 SR B 32

Options :

1. % foig

2. 37

3. % GIfaHr

4. % TR

Question Number : 15 Question Id : 97675513763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Arrange the given words in the sequence in which they occur in the dictionary.
1. RATTLED

2. RATINGS

3. RAPTURE

4. RAMPANT

5. RADICAL

Options :

1.95.4,3,2 1

2.% 5,4,2,3,1

3.% 4,5,3,2, 1

4. % 4,3,5,1,2

Question Number : 15 Question Id : 97675513763 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 77U Wsal 1 39 HH | HafRUd 3 o o1 H d UsGHIRT A 8ld &
1. RATTLED

2. RATINGS

3. RAPTURE

4. RAMPANT

5. RADICAL




Options :

1.95.4,3,2,1
2.%5,4,2,3,1
3.% 4,5,3,2,1
4. % 4,3,5,1,2

Question Number : 16 Question Id : 97675513764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1 : All pineapples are mangoes.
Statement 2 : All mangoes are apples.

Conclusion I : No apples are mangoes.
Conclusion II : All pineapples are apples.

Options :

1. # Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. % Neither I nor II follows

Question Number : 16 Question Id : 97675513764 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy H ol pUF fRu U 8, o a1 & s 1 3R 11 feu U § 1 3t 391 U &1 el AFAT 8, YA 81 I8 IHad: I1d 9  fie Ui
g1l 3 g i o & & feu o freesf § A P, afe 18 €, A R My vt & | SrgRuT e 21

YT 1: Y AT 3 B |
YT 2: G M AT B |

Wl:m@amqﬁ%
ey 11 gt ST AT B



Options :

1. # $Had [T5HY [ 3IERU Hdl §
2. ¥ Had fHY 11 S0 BT &
3. % [ 3R 11 ST 3FIERU xd §

4. % 1 3R 8 11 STIRI Rl §

Question Number : 17 Question Id : 97675513765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by three conclusions, I, IT and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1 : Some lakes are rivers.
Statement 2 : All rivers are ponds.

Conclusion I : Some lakes are ponds.
Conclusion II : No rivers are lakes.
Conclusion III : Some ponds are rivers.

Options :

1. # Only conclusion I follows

2. % Only conclusion I and II follows
3. % Only conclusion I and III follows
4. # All conclusions I, IT and III follow

Question Number : 17 Question Id : 97675513765 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy & & pY= feu T 8, fo e a1 i e 111 3R 111 fRT TTW § 1 31Tt 39 Y=l 1 Tl AFAT 8, Wl 8 I JrE=Id: I1d o 3 fag
Tl 813Ul 7g fAufg o @ b fau e st 7 @ &1 a1, afe 1S 8, df fou e i A & srERur R g

HYT 1: B el AT B

HY 2: Y afear araa g



fTshY I: $ S aae 3|

st 11 1S o 7t et TR &
freeptf 111 o drene AT B

Options :

1. % had s [ 3IER0 R §

2. % HId Y [ 3R 11 TRV HRd §

3. ¢ Had F5HY [ 3R 111 IRV B §

4. %} F5BY 1, 11 3R 111 TR0 6% §

Question Number : 18 Question Id : 97675513766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements I and II are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement I : 70% employees of XYZ Organisation did not come today.
Statement II : Ashoka is an exployee of XYZ Organisation.

Conclusion I : Ashoka did not come today.
Conclusion II : Ashoka came today.

Options :

1. % Only conclusion I follows
2. % Only conclusion II follows
3. % Both I and II follow

4. ¢ Either I or II follows

Question Number : 18 Question Id : 97675513766 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy A gl HYF 1 3R 11 AT TN §, Forass a1 &) w1 3R 11 fau U B 1 3ueh! 37 HuU=l &1 Tg! 7191 8, Hdl 8 I8 ITH=Ia: J1d a9 9
fors el g1 siuep! T fvfg o B T fau T fsef & @ o a1, afe #1s 81, @ 3T e et & & SgeRur arar 8|

PYT1: XYZ ST B 70% PHART TSl 781 3T



HUT 11 3RMb XYZ AT BT Th HHAR! g |

sy 1 3= 3T 78T T B
fsenef 11: 3N 3T ST B
Options :

1. % Had (5HY | SO0 HRT §
2. % Had BN 11 IR0 Hl §
3. % [ 3R 1 G AR R §

4.« 11T 11 SIR0T AT §

Question Number : 19 Question Id : 97675513767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong number in the following number series:
2,4,16, 96,576

Options :
1. % 4
2. % 16
3. % 96
4.+ 576

Question Number : 19 Question Id : 97675513767 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fraferiRad Te §aan & TTad e 1d By
2,4,16,96,576

Options :

1. % 4

2. % 16

3. % 96

4. ¥ 576




Question Number : 20 Question Id : 97675513768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the missing number in the following number series:
215, 247, , 341, 403

Options :
1. % 282
2. %279
3.9 289
4. % 272

Question Number : 20 Question Id : 97675513768 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferRad e gaer H qud TReaT Td e

215, 247, , 341, 403
Options :
1. *= 282
2. % 279
3.9 289
4. = 272

General Ability2
Group Number : 2
Group Id : 976755469
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General Ability2

Section Id : 976755806
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755947
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 97675513769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the option that is related to the third number on the same basis as the second number is related to the first number.
8:128::9:7?

Options :

1. ¥ 162

2. %90

3. % 147

4. % 81

Question Number : 21 Question Id : 97675513769 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 fahed BT 99 B N ) Tt ¥ I3 IR I Weifed g o IR O gust TRean ug et Te § Hefid g |
8:128:9:7

Options :



1. ¥ 162
2.% 90
3. % 147
4. = 81

Question Number : 22 Question Id : 97675513770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the number which when added to itself 18 times, gives 152.
Options :

1.¥8

2.% 7

3.%9

4. % 6

Question Number : 22 Question Id : 97675513770 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I8 =1 1 B3, oY 18 TR W A SIS WR, 152 T gl
Options :

1.¥38

2.% 7

3.9

4. % 6

Question Number : 23 Question Id : 97675513771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which two numbers should be interchanged to make the below equation mathematically correct?
114+3%x19-9+12=21

Options :

1. * 19,9



2.43,19
3. % 9,12
4. % 3,12

Question Number : 23 Question Id : 97675513771 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fau T gHieRu & Tt 99 & forg fos g Tamrafi &1 g 0 ¥ R ST aTgd?

114+3%x19-9+12=21
Options :
1. % 19,9
2.9 3,19
3. % 9,12
4. % 312

Question Number : 24 Question Id : 97675513772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ifx - 6 >y + 4, then which of the following is true?
Options :

1.¥ x-y>10

2. % x+y<10

3. % x-y<I10

4. % x+y>10

Question Number : 24 Question Id : 97675513772 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A x - 6>y +4 5, A FHRIRET T ¥ DH 91 9 572
Options :

l.¥ x-y>10

2. % x+y<10



3. % x-y<10
4. % x+y>10

Question Number : 25 Question Id : 97675513773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two numbers are 50% and 80% respectively more than a third number. What is the ratio of first number is to the second number?
Options :

1. ® 6:5

2. % 5:8

3. % 85

4. ¥ 5:6

Question Number : 25 Question Id : 97675513773 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I TRBATY, HHT: 50% 3R 80% TH AR AT U 311D § | Ugalt B BT GuR! T U SUTd T 62
Options :

1. ® 6:5

2. % 5:8

3. % 85

4. ¥ 5:6

Question Number : 26 Question Id : 97675513774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship between nieces, females and brothers?
Options :



Question Number : 26 Question Id : 97675513774 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o9 1 39 IR Hclioh, Afgamail 3iR 1Tzl & dig & T B Jad 33T <2TdT 82




Options :

©
Cp
Rt
ee

Question Number : 27 Question Id : 97675513775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The given Venn diagram shows the number of students who travel by bus, car or train. How many students travel by only one medium?

o
(XN

Train— — Bus

— Car

Options :
1. % 36
2. % 47
3. ¥ 63
4. % 11

Question Number : 27 Question Id : 97675513775 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 711 37 3R I BT ) T DI ST & S 9, BR T XS] A I B & | Hadt Teb 19  fa S T 3 82

TETE— A —ad
—&FHlK

Options :

1. % 36

2. % 47

3. ¥ 63

4. % 11



Question Number : 28 Question Id : 97675513776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If West is South, North-East is North-West, then North-West is
Options :

1. # North

2. # South-East

3. % South-West

4. # East

Question Number : 28 Question Id : 97675513776 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe ufde <fér 8, STR-Ud ITR-UYH §, Y STR-ufE™ 2
Options :

[. % 3™

2. % Cl&u-gd

3. ¢ Gfemrafgy

4. % 7d

Question Number : 29 Question Id : 97675513777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Rashi walk 0.3 km towards West. Then, she turns right and goes for 0.5 km. Then, she turns right and goes straight for 0.3 km to reach her
friend's place. What is the shortest distance between Pallavi’s friend's place and her home?

Options :

1.4 0.5 km
2. % 0.4 km
3. % 0.8 km
4. % 0.3 km



Question Number : 29 Question Id : 97675513777 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 Ui Bt 3R 0.3 km T © TR, T8 A8 SR YT § 31K 0.5 km Ta g | fhR, T8 a1 SR Sl § 3R (U= B & ™I I Uga &
forg Tfterm 0.3 km T B | TTTA BT et B R 3R ITD R & s Gad HH g3l a1 82

Options :

1. ¥ 0.5km

2. % 0.4 km

3. % 0.8km

4. % 0.3 km

Question Number : 30 Question Id : 97675513778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Astha walks 7 km north, then turns west and walks 6 km, then turns south and walks 2 km, then turns west and walks 3 km, then turns to her left
and walks 5 km. Where i1s she now with reference to her starting position?

Options :

1. # 9 km east
2. % 3 km west
3. % 9 km west

4. % 3 km east

Question Number : 30 Question Id : 97675513778 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{TRIT 7 km IR BT 3R I 8, fB ufy o1 3R gt § 3R 6 km et 7, fOR féor o1 3R gt 8 3R 2 km et 7, fOhR ufdm &
3R S & 3R 3 km T &, AR 30 o1 3R Gl © 3R 5 km Tl 31 309 RIS R P Yo F (9 98 Bl 82

Options :

1. % 9kmUd
2. % 3 km UfgH
3. ¢ 9 km UigH

4. % 3kmgd



Question Number : 31 Question Id : 97675513779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Charlie travels 9 km west, then turns to his left and travels 11 km. Darsheel travels 5 km south, then turns west and travels 17 km, then turns
south and travels 18 km, then turns to his left and travels 8 km. Where is Darsheel with respect to Charlie now?

Options :

1. # 12 km north
2. % 34 km south
3. % 12 km south
4. % 34 km north

Question Number : 31 Question Id : 97675513779 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT 9 km T & 3R AT Bl 5, TR SO 9T 3R ST 8 R 11 km ITAT HRal 8 | GRITA 5 km STE0T B 3R I Hoxll 8, OB Uiz
B 3R GSAT 8 3R 17 km D1 I R 8, FBR SfRr01 Bt 3R YT 8 3R 18 ke T HRAT &, FhR 31U &1 3R TSaT § 3R 8 km TTAT
B g | A1l & ey H 3rd axife pei g2

Options :

1. % 12 km TR

2. % 34 km GI&0T

3. % 12 km GI&f0T

4. % 34 km IR

Question Number : 32 Question Id : 97675513780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
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4> 04 P
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o g9 0d
B> B> 40
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> dd
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B0 ddq
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Question Number : 32 Question Id : 97675513780 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu T Riwedl # @ & e Rfyd % A TuE &1 gTlTP, T faed 3 diF o1 oRE el ¢ | 39 fdhcd o1 I8 &Y off 310 ¥ 3T B

Options :



OB Opb
<> o0d b
PA4dDPd
4> 04 P

<> o4
o g9 0d
B> B> 40
g R Sl vl v

oOdpP 0Od
>>opb b
> dd
490 P

3. %

B0 ddq
>OA P d
PB4 0
4> <10 P

4.9

Question Number : 33 Question Id : 97675513781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following answer figure completes the series of the question figure?



@ o |+ |:|# /
+ ” / v
" = +[© 2 ?
o 2 O ~
$ — % + F * — @ $—*+
Options :
+
@ O
O O
I
o o)
O
!
@
$ % — T
2.¢ #
' O
O
@
/
$ — % *T
3 & "
o (@]
O
3 =
!
4.33 #— % + @

Question Number : 33 Question Id : 97675513781 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frgfaRad § 9 o9 O SR SHid Uy 3Hid o1 SRaa &l IRT HRaT 82
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Question Number : 34 Question Id : 97675513782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following options is the wrong figure in the series?

oo ||

& * % k * % X Furara.
* * % J k| * k%

L * * * % % 4 4k &

(A) (B) (C) (D)

Options :

1. % Image A

2. % Image B

3. % Image C

4. ¥ Image D

Question Number : 34 Question Id : 97675513782 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafiRyd & ¥ &1 91 fadhed 4aar § Tad SHhid 82

* * * k% * % %k % % %k
* * x * | ke k
L * * L % %% K

(A) (B) (€ (D)
Options :

1. % Bfda
2. % BfdB
3. % BfdC
4. ¥ 3D

Question Number : 35 Question Id : 97675513783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third image on the same basis as the second image is related to the first image.

8:@::@:?

Options :




Question Number : 35 Question Id : 97675513783 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I fared o7 70 B o RN B W I ThR I Y&fdd g or TR T gOst 813 uge a3 Yefed g
O . .o ]

§ 7
O [ ] @ L I ] & [ ] .

Options :

1. ¥

3. %




2)

Question Number : 36 Question Id : 97675513784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure patterns can be combined to make the question figure?

¥ ¥*
fany
N\
?
¥
Options :
&/
1. ¢ =
L ]
2. % ad




Question Number : 36 Question Id : 97675513784 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fgfaRad § 9 o9 Tt SR 3TPHid U &I Uy STHid §H & ol SISt I Tl 82

any

N\
Kd
Options :

|/
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Question Number : 37 Question Id : 97675513785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following cube in the answer figure cannot be made based on the unfolded cube in the question figure?

]

Options :



/7




Question Number : 37 Question Id : 97675513785 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR NP1 H o O 1 Uy 3P | el Als T T4 & SHTYR W e S Sff Tl 82

2.¥




Question Number : 38 Question Id : 97675513786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



1. #®

NN

Question Number : 38 Question Id : 97675513786 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& TS IR 3P T, I NPTl BT Tg B oG Uy 3pfa AR g



Options :

1. ®




Question Number : 39 Question Id : 97675513787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line MN, then which of the answer figures is the correct image of the given figure?

| 4
=y

M N
Options :

h

I

] N

2. %

<] 4




F X

4.9

Question Number : 39 Question Id : 97675513787 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe T YT I IT/N MN TR 3G T 7, Y B Tt IR 3Mpfal &1 7S 3nmepfay 1 It e ufafds 82
4
=<

M N
Options :

A

I

I N




Question Number : 40 Question Id : 97675513788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maxiumum squares are there in the question figure?

Options :
1. # 36
2. % 24
3.9 30
4, % 20

Question Number : 40 Question Id : 97675513788 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Uy 3Mpia H fora if¥an arf g2




Options :
1. #® 36
2. % 24
3.9 30
4. % 20

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group? :
Edit Attended Group? :
Break time :

Group Marks :

Is this Group for Examiner? :

Section Id :

Section Number :
Section type :
Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :

Section Marks :

General Awarenessl

3
976755470
0

0
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No
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General Awarenessl

976755807
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Online
Mandatory
20
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 976755948
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 97675513789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following built the Moti Masjid of Agra?
Options :

1. ® Aurangzeb

2. % Shah Jahan

3. % Babur

4. % Humayun

Question Number : 41 Question Id : 97675513789 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fofefaa & 3 fea 3mRT & Al Afde o1 fRmior far
Options :

1. % 3TN

2. ¥ G W&l

3. % dld

4. % gL

Question Number : 42 Question Id : 97675513790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Onam is celebrated for days with the arrival of Mahabali.
Options :

1. % ten

2. % five



3. # three
4. % eight

Question Number : 42 Question Id : 97675513790 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3o, HETEeh b M B Iy AT & forg w=m siran g
Options :

l.¥aY

2. % U

3. % diF

4. % S

Question Number : 43 Question Id : 97675513791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The only objective of dance form of Bihar is to invoke Lord Indra at a time of severe drought.
Options :

1. # Jawara

2. % Bhagoria

3. % Ghumra

4. ¥ Jhijhian

Question Number : 43 Question Id : 97675513791 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fSeR & T U BT THHAE 3630 THR TW & THT WA % 61 3MEH BT 7 |
Options :

1. # S[aRT

2. % YR

3. % YHT




4. T

Question Number : 44 Question Id : 97675513792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Chakri is one of the most important folk music of which of the following states/union territories?
Options :

1. % Uttar Pradesh

2. % Himachal Pradesh

3. ¢ Jammu and Kashmir

4. ¥ Madhya Pradesh

Question Number : 44 Question Id : 97675513792 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IHh FEfaRed T ¥ fd Is0/d=-IMRId TSR &1 9a9 Teayul did 9Tiid g7
Options :

1. % JW U

2. % feHTad U™

3. ¢ T 3R HIHR

4. % T YT

Question Number : 45 Question Id : 97675513793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Reserve Bank of India was established in the year
Options :

1. % 1930

2.9 1935

3. % 1938

4. % 1932



Question Number : 45 Question Id : 97675513793 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ReTd o Bt RITAT EEREESRIERIT
Options :

1. % 1930

2.9 1935

3. % 1938

4, % 1932

Question Number : 46 Question Id : 97675513794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is the first Indian bank to open an overseas branch?
Options :

1. ¥ Bank of India

2. # Central Bank of India

3. % State Bank of India

4. # Presidency Bank

Question Number : 46 Question Id : 97675513794 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Proffad & & 35 o eer YR §5 & Rre R wrer @y
Options :

1. ¥ % 3T Sfean

3. % YRAG e dF

4. % THSH dF



Question Number : 47 Question Id : 97675513795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

refers to the total value of all the final goods and services produced in an economy during a certain period after deduction of
depreciation of capital goods.

Options :

1. # Private Income

2. # Gross Domestic Product
3. % Net National Product

4. * Gross National Product

Question Number : 47 Question Id : 97675513795 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UoiTd a3t & gy &1 el & a1 U (YT 3afd & SR Udh Srfcaaet § Iarfed aHt sifaw awgail aik Jarsit
& $d Jed B! Yarid axal gl

Options :

1. % f9si 3

2. % hd W IUTG

3. ¢ Y AP IS

4, % gobdl APTY TG

Question Number : 48 Question Id : 97675513796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in Budget 2021, the custom duty on cotton has increased from nil to
Options :

1. % 5%

2. % 10%

3. % 15%

4. % 20%



Question Number : 48 Question Id : 97675513796 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§ole 2021 H OIY0M & 3UR, HUN R H-Yeb LTI AT 81 TB 8l
Options :

1. % 5%

2.9 10%

3. % 15%

4. % 20%

Question Number : 49 Question Id : 97675513797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is calculated by dividing the national income of the country by the total population of a country.

Options :

1. # Personal Income

2. % Disposable Income
3. ¥ Per Capita Income

4. ¥ Net National Product

Question Number : 49 Question Id : 97675513797 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 UM G- D1 Sl SIS GRT G2 b1 AP 31T b1 {IHTIIT B b1 Tell 6|

Options :

1. % Hfadid 3
2. % O 3T
3. ¢ Ufd Afad s

4. % g AP IdTG

Question Number : 50 Question Id : 97675513798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following elements does not belong to the Halogen group of Periodic Table?
Options :

1. # Fluorine

2. # Todine

3. % Bromine

4. ¥ Helium

Question Number : 50 Question Id : 97675513798 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & § S 1 I 3MTad RO & g T O Yefdd T8l 82
Options :

1. % TRIRMH

2. ® IS

3. % S

4. ¢ Teferam

Question Number : 51 Question Id : 97675513799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to Kepler's law, the square of the time period of the planet's orbit is directly proportional to the cube of the semimajor axis
of its elliptical path.

Options :
1. # first
2. % second
3. % third
4. # fourth

Question Number : 51 Question Id : 97675513799 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



?ﬂ“\féﬁ {0 & SR, U8 1 DEf b JHATETY BT 97, I UePehe (SHgwiy) Uy o e id 3igf & o= & I Srguriisd
|

Options :

1. % U8

2. ¥ GW

3. ¢ AR

4. % 9

Question Number : 52 Question Id : 97675513800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Water harvesting is called in Himachal Pradesh.
Options :

1. ¥ Kulhs

2. # Eris

3. ¥ Bundhis

4, ® Kattas

Question Number : 52 Question Id : 97675513800 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feaTae ve=r & 9T Sea &l RIS
Options :

1. ¥ P

2. % WY

3. % gfed

4. % Ppgl

Question Number : 53 Question Id : 97675513801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The scientific name of Vitamin K1 is

Options :

1. # Cobalamin

2. % Riboflavin

3. % Phytomenadione
4. % Pyridoxine

Question Number : 53 Question Id : 97675513801 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faeTfed K1 &1 axfe 914 g
Options :

1. % DI

2. % Rardfa

3. ¢ BRICIHATS 3

4. % UTORSIRA

Question Number : 54 Question Id : 97675513802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Khadar and Bhangar are types of which of the following soil?
Options :

1. % Black

2. ¥ Alluvial

3. # Laterite

4. % Saline

Question Number : 54 Question Id : 97675513802 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR 3R YR Fafiied & 9 g a1 & UeR 82

Options :



1. % Prail

2. ¥ S[qlg (T[T
3. % qR3C

4. ® WRT (AARA)

Question Number : 55 Question Id : 97675513803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an example of Zaid crops?
Options :

1. % Wheat

2. % Rice

3. ¥ Cucumber

4. % Mustard

Question Number : 55 Question Id : 97675513803 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FEffed & & &F 91 G & Bhd BT 3aIeUl 67
Options :

1. % 7§

2. #® Tdd

RGN

4. % IRl

Question Number : 56 Question Id : 97675513804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers is not a tributary of Yamuna?
Options :

1. #* Sindh



2. % Betwa
3. #* Tons
4. « Kosi

Question Number : 56 Question Id : 97675513804 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad At & § o F 951 31 T Iue T8 72
Options :

1. % Rig

2. % §ddl

3. % 2

4.« B

Question Number : 57 Question Id : 97675513805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The highest peak of Karnataka, Mullayanagiri, is located on which of the following range?
Options :

1. ¥ Western Ghats

2. # Eastern Ghats

3. % Aravalli

4. % Satapura

Question Number : 57 Question Id : 97675513805 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FHlcd Pt gy St diet, GearaHrRy, Fafafed & 9 o gdarrer = fRud g2
Options :

1. « Uiy gre
2. % galdre




3. % 3RIge
4. % gdygl

Question Number : 58 Question Id : 97675513806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following trench was earlier known as the Java Trench?
Options :

1. # Puerto Rico Trench

2. % South Sandwich Trench

3. % Sunda Trench

4. % Mariana Trench

Question Number : 58 Question Id : 97675513806 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad 7 ¥ fog 71d ! ugd STa1 1< & =19 I ST STt Y12
Options :

1. # QUSRI®! Td

2. % o Hefag e

3. ¢ gl T

4. % HIRYTT T

Question Number : 59 Question Id : 97675513807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who was the founder of the Satavahana Dynasty?
Options :

1. % Yagya Sri Satakarni

2. ¥ Simuka

3. # Gautamiputra Satakarni



4. # Yajna Satakarni

Question Number : 59 Question Id : 97675513807 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TaTg AR BT GRIUSH DI UT?
Options :

1. % T3 ot gl

2. ¢ Higd

3. % TIqH! G A ult
4. % GO ATAH UM

Question Number : 60 Question Id : 97675513808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following vedas is known as "Veda of Melodies and Chants"?
Options :

1. % Rig

2. % Atharva

3. #® Yajur

4. ¥ Sama

Question Number : 60 Question Id : 97675513808 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad agi 7§ fed »1iid sk Tifia & dg" & =u H S 97 82
Options :
1. #® B
2. % 3Yd
3. % TR
4. ¢ JH




General Awareness2

Group Number : 4

Group Id : 976755471
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No

General Awareness2

Section Id : 976755808
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755949
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 97675513809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
account of travels is known as the Rihla.

Options :



1. ¥ Ibn Battuta's

2. % Marco Polo's
3. % Hiuen Tsang's
4. # Fahien's

Question Number : 61 Question Id : 97675513809 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIEIEY @ &l REd & & 98 A T I 8 |

Options :

1. ¢ 3 dqdl
2. % HIHI gl

3. % g9 &
4. % IiggH

Question Number : 62 Question Id : 97675513810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who won the Battle of Karnal fought in 1739?
Options :

1. ¥ Nader Shah

2. % Muhammad Shah

3. % Aurangzeb

4. % Tbrahim Lodi

Question Number : 62 Question Id : 97675513810 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1739 T A8 T BT ol g fob = Sitalr 412

Options :

1. ¢ AR T8




2. ¥ Hgwc 8
3. % IS
4. % gEIQH dIdl

Question Number : 63 Question Id : 97675513811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the Treaty of Alinagar signed?
Options :
1. % 1793
2. % 1782
3. % 1795
4. 1757

Question Number : 63 Question Id : 97675513811 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
31l 1 WY TR §EAT&R el fby TTT A2
Options :

1. % 1793

2. % 1782

3. % 1795

4, ¥ 1757

Question Number : 64 Question Id : 97675513812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following built the Virupaksha temple of Karnataka?
Options :

1. # Chola Empire

2. # Rashtrakuta Empire

3. % Vijayanagara Empire



4. # Solanki Empire

Question Number : 64 Question Id : 97675513812 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frfead & 9 fobea e & fawares wier o1 o fosan um
Options :

1. % <l Qrorsy

2. % PHC HHNY

3. ¢ fASgTR wwrs

4. % Hicieh! QTHTY

Question Number : 65 Question Id : 97675513813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Veer Bhumi is the memorial of which of the following leaders?
Options :

1. ¥ Rajiv Gandhi

2. # Morarjee Desai

3. # Lal Bahadur Shastri

4. # Charan Singh

Question Number : 65 Question Id : 97675513813 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R yff fafaRad & 9 fod a1 &1 ¥R 52
Options :

1. ¢ MSitg el

2. % ARRSH ¢dTg

3. % WTCISGIGR Xl

4. % TR



Question Number : 66 Question Id : 97675513814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Atmakatha' is an autobiography of which of the following persons?
Options :

1. ¥ Rajendra Prasad

2. # Jawaharlal Nehru

3. % Narendra Modi

4. % A.P.J Abdul Kalam

Question Number : 66 Question Id : 97675513814 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YAHYr Fuferfad & O fog aafad & sTasuT 32
Options :

1. ¢ o< UG

2. % SATERATd g%

3. % R A

4. % T OOl 3fegd Had

Question Number : 67 Question Id : 97675513815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following books is not written by Amitav Ghosh?
Options :

1. # The Glass Palace

2. % The Tunnel of Time

3. % The Circle of Reason

4. # The Shadow Lines

Question Number : 67 Question Id : 97675513815 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafead & 9 oA I fbdra sty o 3 =1t ot 8
Options :

1. % g1 Uay

Question Number : 68 Question Id : 97675513816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following songs won the 65th Filmfare Awards 2020 in the 'Best Lyrics' category?
Options :

1. # Kalank

2. % Ve Maahi

3. ¥ Apna Time Ayega

4. % Teri Mitti

Question Number : 68 Question Id : 97675513816 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRaa Midl @ 9 foram a9 Mideer 9uft H 65af TThehar TREBR 2020 SidT

Options :
1. ® ®HAD

2. % g UG

Question Number : 69 Question Id : 97675513817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
What is the real name of Tansen?
Options :

1. ¥ Ramtanu Pandey

2. % Narendra Nath Datta

3. *# Dhanpat Rai

4. % Satyanarayana Raju

Question Number : 69 Question Id : 97675513817 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR &1 aRarad -8 &1 82

Options :

1. ¢ A UTUSy

2. % T YT

3. % YUud ™

4. % JIARTIUT M

Question Number : 70 Question Id : 97675513818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is an autobiography of Mary Kom?
Options :

1. # Courage and Conviction

2. # Playing It My Way

3. % Straight from the Heart

4. ¥ Unbreakable

Question Number : 70 Question Id : 97675513818 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad & T o T 3 H1H B MHBYT 82




Options :

1. % P U Hi-darH
2. % WISCHT

3. % W B G BIC

4. ¢ 3ASHEA

Question Number : 71 Question Id : 97675513819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

47th Constitutional Amendment included  land reforms Acts of various states in the Ninth Schedule.
Options :

1.9 14

2. %15

3.%9

4. % 12

Question Number : 71 Question Id : 97675513819 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

473 Gaurfe TRy A A s A faffm =iy QuR Sifdfam wnfire fasa)
Options :

1.¥ 14

2. %15

3.%9

4. % 12

Question Number : 72 Question Id : 97675513820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Schedule in the Indian Constitution contains provisions as to the Administration and Control of Scheduled Areas and
Scheduled Tribes?

Options :



1. * Third
2. * Fourth
3. ¥ Fifth
4. * Sixth

Question Number : 72 Question Id : 97675513820 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tfaum & fFafaied srogh & 9 forad sragfad aaf iR g SHfaal o TR 3R FE=01 & UrauT i g2
Options :

1. % AR

2. % Y

3. ¢ Uid

4. % B

Question Number : 73 Question Id : 97675513821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following part of the Indian Constitution deals with Emergency Provisions?
Options :

1. % XIX

2. % XIII

3. % XV

4. % XVIII

Question Number : 73 Question Id : 97675513821 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Tau™ & FHfaRad Ui & 9 & 91 Suradbia g 3 J6fid g2
Options :

1. ® XIX




2. % X1
3. ¥ XV
4.« XVIII

Question Number : 74 Question Id : 97675513822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The concept of Cabinet system in the Indian Constitution is borrowed from the constitution of
Options :

1. ¥ United Kingdom

2. # Ireland

3. # Germany

4. % France

Question Number : 74 Question Id : 97675513822 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ffde™ # pfare gomell &1 srayron & Tfu™ ¥ YR ot 718 &
Options :

1. ¢ gA13cS fhired

2. % IS

3. % ot

4. % 1Y

Question Number : 75 Question Id : 97675513823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following Constitutional Amendment facilitated the creation of a new autonomous State of Meghalaya within the State of
Assam?

Options :
1. # 25th
2. % 22nd



3. % 42nd
4. % 38th

Question Number : 75 Question Id : 97675513823 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied & @ ®F ¥ JauTe TRY 3w Iy & HidR HeTad & Ue -4 W Isd & FHfor & g fear g2
Options :

1. % 25d

2. v 224

3. % 42d

4. % 389

Question Number : 76 Question Id : 97675513824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudirman Cup is associated with which of the following sports?
Options :

1. # Table Tennis

2. ¥ Badminton

3. #® Golf

4. ¥ Football

Question Number : 76 Question Id : 97675513824 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YERA U Fafied & 3 f5a @a 3 a1 8
Options :

1. % ¢qd ¢ g

2. ¢ SefHed

3. % Tcth



4. % pedd

Question Number : 77 Question Id : 97675513825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Indian woman badminton player to win an Asian Games medal?
Options :

1. # Ashwini Ponnappa

2. % Jwala Gutta

3. ¥ Saina Nehwal

4. % P.V. Sindhu

Question Number : 77 Question Id : 97675513825 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRMTS Wl &1 UadH S arelt Ugal YR Afgal sefie Raarst H g2
Options :

1. % S U

2. % SdIcdTI]eT

3. ¢ ST Agard

4 % RA Riy

Question Number : 78 Question Id : 97675513826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P.V. Sindhu has in the BWF Swiss Open Super 300 in the final of the women’s singles event held at Basel, Switzerland in March
2021.

Options :

1. # won the Gold medal
2. # did not win any medal
3. % won the Silver medal

4. % won the Bronze medal



Question Number : 78 Question Id : 97675513826 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&t Riy At 2021 T R & TRT H SMAfTd Afgel Thd & BR—d § BWF a9 St R 300 A gl
Options :

1. % ol e Sitd

2. ® PIS Uae g1 Sidl

3. ¢ TS Uaeh Sl

4. % DY UG Sild]

Question Number : 79 Question Id : 97675513827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who won the men's singles in Yonex All England Badminton Championships 2020 in Birmingham, England?
Options :

1. ¥ Viktor Axelsen

2. # Peter Gade

3. ® Chou Tien-Chen

4. % Hiroyuki Endo

Question Number : 79 Question Id : 97675513827 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§iHgd, Zicis o Ty 3MTd s S8ftie MUY 2020 H TN Udhd fohe Siidm
Options :

1. ¢ fager Toier

2. % GRS

3. % 913 fewA=H

4. % RGP Tl




Question Number : 80 Question Id : 97675513828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Khelo India University Games 2021 will be hosted by
Options :

1. * West Bengal

2. % QOdisha

3. ¥ Karnataka

4. % Mabharashtra

Question Number : 80 Question Id : 97675513828 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 2fEar giHaRiel 1R 2021 &A@ GRI D! S|

Options :
1. % OfyH &I
2. % 3fifg=m
3. ¥ Blicdh
4. ® HERIY

Arithmetic Abilityl
Group Number : 5
Group Id : 976755472
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
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Arithmetic Abilityl

Section Id : 976755809
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755950
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 97675513829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: (5616 +9) ~6 ="

Options :

1. # 102

2.¥ 104

3. % 103

4. % 101

Question Number : 81 Question Id : 97675513829 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRATPd BY: (5616 = 9) + 6 =2
Options :

1. % 102

2.¥ 104

3. % 103



4. % 101

Question Number : 82 Question Id : 97675513830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: (4865 x 2.2) - (4590 x2.3)+1=7?
Options :

1. ¥ 147

2. % 124

3. % 156

4. % 146

Question Number : 82 Question Id : 97675513830 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRATPd BY: (4865 x 2.2) - (4590 x 2.3) + 1 =72
Options :

1. ¥ 147

2. % 124

3. % 156

4. = 146

Question Number : 83 Question Id : 97675513831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A natural number is 15 more than its one-fourth part. What is the number?
Options :

1. % 10

2. %15

3.9 20

4. % 25



Question Number : 83 Question Id : 97675513831 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UTghd TS ISP Th-TIITE UIT I 15 31T 8 | e T 82
Options :

1. % 10

2. % 15

3.%20

4, % 25

Question Number : 84 Question Id : 97675513832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is largest of the following fractions:

10 4 14 6

E, g, Eﬂﬂdﬁ

Options :

?

1.3;sﬁ
4
6

14



Question Number : 84 Question Id : 97675513832 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

of@a ff=a # ¥ &l @ g98 d371 &

10 4 14 6
16" 6" 18 10
Options :

1.%-'3E

4
2.‘*‘36

14

3« 18

Question Number : 85 Question Id : 97675513833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following fraction does not lie between l and § 27
2 9

Options :



o | L

Question Number : 85 Question Id : 97675513833 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ﬁmﬁ%aﬁﬁa#ﬁmfﬂm%aﬂt%%aﬁaﬂﬁm%’?

Options :
3

4



~I| o

Question Number : 86 Question Id : 97675513834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Riya was 50 cm long at birth. She is 6 years old now and is 1.02 m tall. How much has Riya grown in height in the past 6 years?
Options :

1. * 045m

2. % 048 m

3. % 0.5m

4.4 0.52m

Question Number : 86 Question Id : 97675513834 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S & THT A1 50 om ol | a8 314t 6 a8 B1 ] 3R 1.02 m T &1 TUa 6 anf & Rar Fams | fedn sdt g2
Options :

1. % 045m

2. % 0.48m

3.9 05m

4.+ 0.52m

Question Number : 87 Question Id : 97675513835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify: 12.12 + 1.212+0.1212 +0.01212 =?
Options :

1. ¥ 13.46532



2. % 13.45632
3. ¥ 14.56743
4. % 16.78452

Question Number : 87 Question Id : 97675513835 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wﬁ 12.12+1.212+0.1212 + 0.01212="?
Options :

1. ¥ 13.46532

2. % 13.45632

3. % 14.56743

4. % 16.78452

Question Number : 88 Question Id : 97675513836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Simplify:

25000 x 0.25 - 0.125 of 1000 + 1200 + 0.80 = ?
Options :
1. % 7725
2. % 7750
3. ¥ 7625
4. % 7630

Question Number : 88 Question Id : 97675513836 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IRAIpd H:

1000 + 1200 + 0.80 b1 25000 x 0.25 - 0.125="7?



Options :
1. #= 7725
2. % 7750
3. ¥ 7625
4. % 7630

Question Number : 89 Question Id : 97675513837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The average weight of a group of 10 persons increased by 4.5 kg when a new person came and replaced one of the members of the group. If the
weight of the member replaced was 70 kg, calculate the weight of the new person?

Options :

1.¥ 115kg
2. % 85kg
3. ®* 90 kg
4. % 87 kg

Question Number : 89 Question Id : 97675513837 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYE & 10 il o1 3d aoH 4.5 ke T §¢ 14T, 5d U 41 TG AT 3R YHE & U & P! ufaeiud fan| afe ufawnfid wew
BT GOl 70 kg YT, df T Afad & goi- 1 UM HL?

Options :

1.¥ 115 kg

2. % 85kg

3. % 90 kg

4. % 87 kg

Question Number : 90 Question Id : 97675513838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A dishonest merchant gives a discount of 30 percent on a packet of wheat. Also, he sells wheat in packets. One packet actually contains 1000g of



wheat. If the shopkeeper labels each packet as 1500 g, find his profit percent?
Options :

1. ¥ 4 percent

2. % 5 percent

3. % 7 percent

4. % 10 percent

Question Number : 90 Question Id : 97675513838 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wé@wﬁﬁg%wﬁ%wwuﬁmﬁﬁ@? <dT 8 3P 3fTaT, 98 Udbe H 7Ig 9adl & | IRdd H, T Udbe H 1000g TE BT |
g gHTER TS Udbe DI 1500g P 0 T AGd Bl §, ) SHBT A1 Ua=rd I1d 2
Options :

1. % 4 yfaera
2. ¢ 5 gfa=rd
3. % 7 yfa=rd
4. % 10 gfaerd

Question Number : 91 Question Id : 97675513839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How much discount does 2 successive discounts of 10 percent result to?
Options :

1. ¥ 19 percent

2. % 20 percent

3. % 18 percent

4. % 217 percent

Question Number : 91 Question Id : 97675513839 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
10 U= & 2 Hi® Fe R fhd-! ge firad g2



Options :

1. ¢ 19 gfard
2. % 20 gfa=rd
3. % 18 gfa=rd
4. % 217 gfa=rd

Question Number : 92 Question Id : 97675513840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Amar spends 30 percent of his income on food, 20 percent on clothing and 75 percent of the remaining income on house rent. What percent of his
income does he save ?

Options :

1. # 25 percent
2. % 30 percent
3. ¥ 12.5 percent
4. % 35 percent

Question Number : 92 Question Id : 97675513840 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R MUY 3T BT 30 U= HISH TR, 20 UfARd HUS IR 3R AW 61 75 U= @R & b8 UR @<f a1 31 98 31Ut 31 &1 fbam
gfa=Td STa 82

Options :

1. % 25 gfaerd

2. % 30 gfa=rd

3. ¢ 12.5 Ufderd

4. % 35 gfa=rd

Question Number : 93 Question Id : 97675513841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The price of a commodity is increased by 60 percent. If the expenditure is to remain the same, by what fraction must its consumption be reduced



?
Options :
1

2

oo W

2.¢

|

L]~

Question Number : 93 Question Id : 97675513841 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TP U09 & T H 60 Ufa=d 9 g 83 7 | afe o0a 90 X1 7, <) ford e 9 S9er! @ud &4 g1 a1fee?

Options :
1

2

oo W

2.9



|l

O =~

Question Number : 94 Question Id : 97675513842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The results of an election between two candidates were as follows: One candidate got 60 percent of the total valid votes, 10 percent of the votes
were invalid, and the rest of the valid votes went to the other candidate. If the total number of votes casted was 8000, the number of valid votes
that the other candidate got, was

Options :
1. #* 4320
2. % 2880
3. % 2500
4. % 7200

Question Number : 94 Question Id : 97675513842 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& SHIGAR! & §19 Udh GAId & IR U TR 3: Th SHIGAR &1 Hof a9 Hll BT 60 T=Td 7, Td BT 10 U= 3fae AT, 3R 9 3y
Hd G SHIGAR P Y| IS ST 7T Hell &1 Sl T 8000 2, T gk SHEHIGaR &1 fid a9 A &1 e |

Options :

1. % 4320

2. ¥ 2880

3. % 2500

4. % 7200




Question Number : 95 Question Id : 97675513843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of 36 articles is equal to selling price of 30 articles. Find the gain or loss percent.
Options :

1. ¥ 20 percent

2. % 27 percent

3. # 13 percent

4. % 10 percent

Question Number : 95 Question Id : 97675513843 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
36 T3 B AT e, 30 IXG3N & faha Jeg & SRR ¢ | 1Y 1 81 wfarera 1a |
Options :

1. ¢ 20 Ufd=rd
2. % 27 gfard
3. % 13 ygfad
4. % 10 gfaerd

Question Number : 96 Question Id : 97675513844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The marked price of a shirt and a suit are in the ratio of 4:5. The shopkeeper gives 40 percent discount on the suit. If the total discount on the suit
and the shirt is 25 percent. Find the discount offered on the shirt.

Options :

1. # 4.75 percent
2. ¥ 6.25 percent
3. % 5.75 percent
4. % 7.75 percent

Question Number : 96 Question Id : 97675513844 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T TC 3R Ud e o1 fafed Hed 4:5 F U A 81 GHMER Y TR 40 YA &1 Fe aal 5| A Ye ok U R $d Fe 25 o= g1 al
¢ IR & S aTell ge 1 B |

Options :

1. % 475 gfa=rd
2. ¥ 6.25 Ufa=rd
3. % 575 Ufa=d
4. % 775 gfa=rd

Question Number : 97 Question Id : 97675513845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Manoj purchased a house for Rs 11 lakh and spent by Rs 50000 on its repairs. If he wants to make a profit of 25 percent profit, find the price at
which he needs to sell the house?

Options :

1. ¥ Rs. 1437550
2. % Rs. 1438500
3. ¥ Rs. 1437500
4. % Rs. 1200000

Question Number : 97 Question Id : 97675513845 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS = 11 IRG BUT H Teh TR WIS 3R 39! 7R WR 50000 TUT db T [T | T I8 25 Ufa=rd o1 1Y HfSid ST argd1 8, o 98
DI JTd B, T TR W W 9T DI IR g2

Options :

1. % 1437550 49U
2. % 1438500 ®UU
3. % 1437500 YU
4. % 1200000 ®UUq




Question Number : 98 Question Id : 97675513846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bag contains 50 Paisa, 25 Paisa and 1 Rupee coins in the ratio 2 : 4 : 5, amounting to Rs. 210. Find the number of coins of each type
respectively.

Options :

1. # 50,100, 125
2. % 44,88, 110
3. % 60, 120, 150
4. % 30, 60, 75

Question Number : 98 Question Id : 97675513846 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH STH2: 45 U H 50 T, 25 TF 3R 1 TUT F Ryas € FoRIwT $d 210 TUL B | YIS UHR & Ryden! o1 T HH: J1d B |
Options :

1. % 50,100, 125

2. % 44,88, 110

3. ¥ 60, 120, 150

4. % 30, 60, 75

Question Number : 99 Question Id : 97675513847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the second number if there are three numbers, sum of which is 115; and the ratio of the first to second is 7:4 and that of the second to the
third is 1:3?

Options :

1. # 60

2. % 25

3. % 35

4.9 20



Question Number : 99 Question Id : 97675513847 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GO TR 1 B T, o GG &, BT AT 115 8; TR TS o GER BT UM 7:4 § 3R G Y AR BT UM 1:3 82
Options :

1. ® 60

2. %25

3. % 35

4.9 20

Question Number : 100 Question Id : 97675513848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If Rs. 12048 is divided in the ratio 1:2:5, then what is the second part?
Options :

1. % 2012

2. % 3024

3. % 2024

4. % 3012

Question Number : 100 Question Id : 97675513848 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TG 12048 FUT BT 1:2:5 P U | faHTioTd fobam 7T 5, A GeT YT a1 82
Options :

1. % 2012

2. % 3024

3. % 2024

4.+ 3012
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Question Number : 101 Question Id : 97675513849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of Rs. 900 yields Rs. 162 as interest at 9 percent per annum of simple interest. Calculate the time?
Options :

1. ® 1 year

2. ¥ 2 years



3. % 3 years

4. # 4 years

Question Number : 101 Question Id : 97675513849 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

900 TUT 1 T, TR SIS & 9 UfI=Td Ufey T8 AT & U H 162 $UT T 8 | THT BT T0FAT Y2
Options :

1. % 199

2.¢27aY

3. %399

4. % 499

Question Number : 102 Question Id : 97675513850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the duration in which Rs.60,000 yields a compound interest of Rs.11,286 at 9 percent per annum?
Options :

1. % 1 year

2. ¥ 2 years

3. % 3years

4. % 4 years

Question Number : 102 Question Id : 97675513850 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 (AT B TOHT B FSRIH 60,000 BUT, 9 TFA=Td Ufd T B &R 11,286 SUY BT Ah G ST Gl 62
Options :

. % 199

2.+ 294

3. %399




4. % 494

Question Number : 103 Question Id : 97675513851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money increases by 90 percent in 5 years at simple interest. What will be the compound interest of Rs. 24,000 after 2 years at the same
rate?

Options :

1. % Rs. 9147.60
2. % Rs. 9000

3. # Rs. 8976.20
4. ¥ Rs. 9417.60

Question Number : 103 Question Id : 97675513851 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST U 5 a8 / 90 Ta=rd ae o R H gfg Bt 31 I &R WR 2 I S 24,000 TUT T Tehgfg TS T R 2
Options :

1. % 9147.60 ¥UUQ

2. % 9000 %Uq

3. % 8976.20 U

4. % 9417.60 >UU

Question Number : 104 Question Id : 97675513852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference in simple interest and compound interest on a certain sum of money is Rs. 25. If the rate is 5 percent p.a. and the duration is 2
years, what is the sum?

Options :

1. % Rs. 20000
2. % Rs. 12000
3. ¥ Rs. 10000



4. % Rs. 15000

Question Number : 104 Question Id : 97675513852 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS FIET o= IR IR AIYRY 1S 3R Aehgfg o7l H 3R 25 ¥UU & AfG &3 5 Ufa=id Ul a9 & 3R 3@y 2 auf g, A IR | g?
Options :

1. # 20000 ®>UUd

2. % 12000 ®UU

3. % 10000 ®UU

4. % 15000 %4Ud

Question Number : 105 Question Id : 97675513853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sushma could have covered 10 km more by running at 7 kmph instead of 5 kmph in the same time.What is the actual distance ran by her?
Options :

1. # 10 km

2. % 25 km

3. % 20 km

4. % 30 km

Question Number : 105 Question Id : 97675513853 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST A 5 kmph & FTT 7 kmph BT T W GISH ST THT H 10 km 3HfIH G2 79 R Favai! off | ITb GRT T4 B} T8 ARG g3l o1 g2
Options :

1. % 10 km

2. % 25 km

3. % 20 km

4. % 30 km




Question Number : 106 Question Id : 97675513854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shyam completes a journey in 20 hours. He travels first half of the journey at the rate of 42 km/hr and second half at the rate of 48 km/hr. Find
the total distance covered in the journey in km?

Options :

1. ¥ 780km
2. % 896 km
3. % 996 km
4. % 787 km

Question Number : 106 Question Id : 97675513854 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A = 20 ¢ T IR G D1 | 98 AT 6T TEAT ST HIT 42 km/hr BT &R I 3R GURT ST 48 km/hr 1 &R AT HRAT ¢ | THTH ad BI g
% G km T JTd B2

Options :

1. % 780km

2.+ 896 km

3. % 996 km

4. % 787 km

Question Number : 107 Question Id : 97675513855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Robin is travelling in his car and has calculated to reach point X at 4 PM if he travels at 40 kmph. He will reach there at 1 PM if he travels at 60
kmph. At what speed must he travel to reach X at 3 PM?

Options :

1. % 65 kmph
2. % 50 kmph
3. ¥ 45 kmph



4. % 55 kmph

Question Number : 107 Question Id : 97675513855 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS ST HR T AT HR IGT 8 3R ST TUHT D1 ¢ fob Al T8 40 kmph B 7T & I BT € @l 4 SORTE q foig X Ugd S| AfE 60
kmph 1 T T BT § < 98 T8I 1 ORI UG | 3 3URTE X d Uga- & fo1e 39 oo 1t T am 1 anfgw?

Options :

1. * 65 kmph

2. % 50 kmph

3. ¥ 45 kmph

4. * 55 kmph

Question Number : 108 Question Id : 97675513856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can do a piece of work in 8 hours; B and C together can do it in 6 hours, while A and C together can do it in 4 hours. How long will B alone
take to do it?

Options :

1. #* 49 hours
2. % 52 hours
3. # 42 hours
4. % 24 hours

Question Number : 108 Question Id : 97675513856 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TH B Pl 8 TS T B IHdI §; B 3R C 1Y FITH 3 6 92 H H b 8, Tafd A 3R ¢ T AR sV 4 G A R IHd ¢ | B 3HPbal
0 P H fdHr 997y o

Options :

1. % 49°¢

2. % 527%¢




3. % 42 4c
4. ¥ 2449

Question Number : 109 Question Id : 97675513857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A is 100% more efficient than B and therefore is able to finish a job in 40 days less than B. Working together, they can do it in . (fraction
to be considered as full day)

Options :

1. # 29 days
2. % 26 days
3. # 25 Days
4. ¥ 27 days

Question Number : 109 Question Id : 97675513857 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, BBI e H 100% 32 P=1eT & 3R AT B Y 5 Y H DT b1 40 &A1 H G163 # WaH &, 1Y A 1 4, 9 g9 ¥
TR P & | (FUF D IR &7 AT SITem)

Options :

1. % 29 faq

2. % 26 fem

3. % 25faA

4.¢ 27

Question Number : 110 Question Id : 97675513858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A machine A can print 1000 copies of a magazine in 6 hours, machine B can print the same number of books in 8 hours while machine R can
print them in 10 hours. All the machines are started at 7 A.M. while machine A is closed at 9 A.M. and the remaining two machines complete the
work. Approximately at what time will the work (to print 1000 copies of a magazine) be finished ?

Options :



1. ¥ 9:58 AM
2. % 10:00 AM
3. # 10:02 AM
4. % 10:05 AM

Question Number : 110 Question Id : 97675513858 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T =M A TH URAST B 1000 Uil &1 6 6 T Gfgd & Tl o, AR B fHdral & Ta 1 &1 8 U2l § fad & dhdl § Said
A R 3% 10 921 H Higd X Fobcll g | w2 o1 7 gafe =re] fovan T wiafos 7=i A 1 9 Yl WR o foan T ok 9w & 7=
BT QR BT & | T g To (afesT & 1000 Uil S99 &1) § S UG 81 ST

Options :

1. ¢ 9:58 dl&
2. % 10:00 Jdig
3. % 10:02Ydlg
4. % 10:05 Jdig

Question Number : 111 Question Id : 97675513859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the area of the iron sheet required to prepare a cone 40 cm high with a base radius of 42 cm (in cm 2 ) approx?
Options :

1. % 11200

2. % 13200

3. % 5600

4. % 7800

Question Number : 111 Question Id : 97675513859 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TATHT 42 cm (cm 2 H) 3MYR 5T F 1Y 40 cm ST UH TIR B & o7 IRTF AR B1 UM BT &TH J1d B2



Options :

1. # 11200
2. % 13200
3. % 5600
4. % 7800

Question Number : 112 Question Id : 97675513860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Seven cubes of volumes :216 cu cm, 27 cucm, 1 cucm, 27 cucm, 1 cu cm, 216 cu cm and 512 cu cm are melted to form a new cube. What is the
diagonal of the new cube?

Options :

1. % 159 cm
2. % 16.20 cm
3. % 12,96 cm
4. % 17.30 cm

Question Number : 112 Question Id : 97675513860 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIdT: 216 cuem, 27 cucem, 1 cucm, 27 cucm, 1 cucm, 216 cu cm 3R 512 cu cm$mﬁﬁwwmaﬂﬁ$ﬁmﬁww%l
¢ O BT fq 0] |1 32

Options :

1. % 159 cm

2. % 16.20 cm

3. % 1296 cm

4.9 17.30 cm

Question Number : 113 Question Id : 97675513861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many bullets can be made from a sphere of 12 ¢cm radius such that the radius of each spherical bullet is 0.4 cm?



Options :

1. % 30000
2. % 27000
3. % 25000
4. % 60000

Question Number : 113 Question Id : 97675513861 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

12 om B30T & T TMial B ¥ o1 Tiferdt S8 o Adhell § oI b U AT R TMiett 1 ST 0.4 cm 82
Options :

1. % 30000

2. % 27000

3. % 25000

4. % 60000

Question Number : 114 Question Id : 97675513862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Study the following table and answer the following question: In which year was the sale of 32AH batteries the highest?

TYPES OF BATTERIES
YEAR
4AH TAH 32AH 35AH 55AH
2010 150 144 114 119 118
2011 120 165 12 a4 T8
2012 106 196 85 112 147
2013 95 56 129 96 84
2014 75 95 173 a0 T8
2015 107 55 106 65 ai
2016 154 120 163 110 a0
Options :
1. ¥ 2015
2. %2016

3. %2011



4. % 2012

Question Number : 114 Question Id : 97675513862 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRofefad difereT &1 3ie B3 3R FUfifad Uy &1 3R S 32AH a9l & fh! fog o & Ia sifdes i

ok il & TR
4AH TAH 32AH 35AH 55AH
2010 150 144 114 119 118
2011 120 165 112 94 K]
2012 106 196 85 112 a7
2013 a5 56 129 96 B4
2014 75 a5 173 80 7a
2015 107 55 196 65 G0
2016 154 120 163 110 90
Options :
1. ¥ 2015
2. % 2016
3. % 2011
4. % 2012

Question Number : 115 Question Id : 97675513863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Study the following table and answer the following question. What is the difference between the number of students passed with 30 as cut-off
marks in Maths and those passed with 30 as cut-off marks in English?

MARKS OUT OF 50
SUBJECT 40 AND 10 AND 20 AND 10 AND 0 AND
ABOVE ABOVE ABOVE ABOVE ABOVE
MATHS 15 a5 Fr a8 100
ENGLISH 0 0 | 7" o0 100
AVERAGE[AGGREGATE) 7 | el | i | m 100
Options :
1. % 10

2. % 12



3.% 13
4.9 15

Question Number : 115 Question Id : 97675513863 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
FAfeIRd diferenT &1 31 B 3R FRfIRId W% &1 3<R < | T & de-3ih 3idh & &0 T 30 o A1 S0l §U BT B! AT 3R SISt
A Fe-3{1th 3 & U H 30 P I1Y Il §UBHI DI G- & a3k 71 82

soHH AT
gk 20 317 FTUT | 20 317 FUT | 20 37 07 | w0 &7 T | 0N T

o 15 a5 72 g8 100

it 20 ) 73 50 100

aitea () 7 27 73 87 100

Options :
1. %10
2. % 12
3. % 13
4.+ 15

Question Number : 116 Question Id : 97675513864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following pie-chart shows the favourite movie genres of a sample of 100 people. Study it and answer the following question: What
percentage of people like Horror and Sci-fi movies?



Favourite movie genres of 100 people

Options :
1. % 30
2.9 29
3. % 3]
4. % 32

Question Number : 116 Question Id : 97675513864 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fafead arg-are 100 @R & 28id ST uidial fthed QAferdl 1 Gl 81 ST 31erg ¥ 3R Fufifed Uy &1 IR & fovd - ufa=rd |
I BT MR fawT-T fiber wRia &2



100 I @t qRidten fosen deft

Options :
1. % 30
2.9 29
3. % 31
4. % 32

Question Number : 117 Question Id : 97675513865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of trees planted by Eco-club of a school in different years is shown on the following bar graph. In which year the percent increase in
the number of trees planted is the highest?
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Options :
1. ¥ 2012
2. % 2013
3. % 2016
4. % 2015

Question Number : 117 Question Id : 97675513865 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad IR ue W faftrs ot & U ureenar & Sol-aad gRT @Y T4 Us! o1 TRe & gxiiar 741 7 | frg o & @ e Ut ot Te
¥ yfawrd 9 T 31 72
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TG Y U 6 e

Options :
1. ¥ 2012
2. % 2013
3. % 2016
4. % 2015

Question Number : 118 Question Id : 97675513866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The population of a particular state in different years is shown on the following bar graph. In which year the percent increase in population is the
lowest?



75

Population ( in lacs)
e 5 H 8 & g2 2B
I :
&
- E

zol10 2011 2012 2013 2014
Year
Options :
1. ¥ 2012
2. % 2011
3. % 2013
4. % 2014

Question Number : 118 Question Id : 97675513866 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FRRIRId IR I R fafia I & Uep fa=IS X0 &1 Seed] &I SR T ¢ | ford ay & Seedt | ufawid 3is s & H 62
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Options :
1. ¥ 2012
2. % 2011
3. % 2013



4. % 2014

Question Number : 119 Question Id : 97675513867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon of a frequency distribution is shown below and answer the following question: What is the frequency of the class whose
class mark is 25?

305 -
25
2% 4 -\
= 20 - \
£ \
£ 13 , Y\
o 3 11 \
o e —
= i - LY
[ 1 o \
5 _____-"'-' \
54 \
o ____.J""-' v O
.-"g 1
10 ] 10 20 30 40 50 &0 70
Class Intervals

Options :
1. 12
2.% 11
3.% 10
4. % 5

Question Number : 119 Question Id : 97675513867 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP TRERAT fAdRU1 &1 IRIRAT T4 P11l a1 71 § SR Fafefad Uy &1 IR S 3 Hefl & SRRl 71 § ORI Hef 3 25

8?



25
15 4

=

Options :
1.¥ 12
2. % 11
3. % 10
4. %5

Question Number : 120 Question Id : 97675513868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

The following histogram shows the height of 450 students. Study it and answer the following question: Number of students of height 180-190 cm
is what percentage of the number of students with height 130-140 cm?

110
. 100
E
-5'!"‘ 80
&
5 &0
£ a0
3
< 2
o
130-140  140-150 150-160 1e0-170 170-180 180-1%0
Height Of The Students (In cms)
Options :
1. ¥ 30

2.9 40



3. % 50
4, % 55

Question Number : 120 Question Id : 97675513868 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa smadfes 450 BT &) T8 &) STAT 3 | SHHT 3T B 3R FHIRAd UY BT IR S 180-190 cm B HaATE AT BT B
TS, 130-140 cm D1 HATS T BT &1 TS BT fobd1T Ufa<rd 82

| 103

forenfifat =t e

130-140 140150  150-180  180-170  170-130  1E0-1%0

BTl Bt ST (em H)
Options :
1. % 30
2.9 40
3. % 50
4, % 55
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Group Number : 7
Group Id : 976755474
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time : 0



Group Marks : 20
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 976755952

Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 97675513869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

DRDO is developing the 200-km strike range / Pranash ballistic missile which / has to be used for tactical missions.
Options :

1. #* DRDO is developing the 200-km strike range

2. * Pranash ballistic missile which

3. ¥ has to be used for tactical missions.

4. * No Error

Question Number : 121 Question Id : 97675513869 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

DRDO is developing the 200-km strike range / Pranash ballistic missile which / has to be used for tactical missions.
Options :

1. # DRDO is developing the 200-km strike range

2. # Pranash ballistic missile which

3. % has to be used for tactical missions.

4. % No Error

Question Number : 122 Question Id : 97675513870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Right to Protest should not be used as a tool that weakens the social order, / it is meant for enrichment of democracy as it provided a platform to
civil society to register / its grievances and also encourage discussions and debates.

Options :

1. # Right to Protest should not be used as a tool that weakens the social order

2. % it is meant for enrichment of democracy as it provided a platform to civil society to register
3. % its grievances and also encourage discussions and debates.

4. ® No Error

Question Number : 122 Question Id : 97675513870 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Right to Protest should not be used as a tool that weakens the social order, / it is meant for enrichment of democracy as it provided a platform to
civil society to register / its grievances and also encourage discussions and debates.

Options :

1. #® Right to Protest should not be used as a tool that weakens the social order



2. ¥ it is meant for enrichment of democracy as it provided a platform to civil society to register
3. % its grievances and also encourage discussions and debates.
4. % No Error

Question Number : 123 Question Id : 97675513871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The discovery of the Siva linga has thrown light on the / religious practices of Neolithic civilisations during who people used to worship idols of /
Gods and Goddesses in standing posture.

Options :

1. #® The discovery of the Siva linga has thrown light on the

2. ¥ religious practices of Neolithic civilisations during who people used to worship idols of
3. # Gods and Goddesses in standing posture.

4. % No Error

Question Number : 123 Question Id : 97675513871 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

The discovery of the Siva linga has thrown light on the / religious practices of Neolithic civilisations during who people used to worship idols of /
Gods and Goddesses in standing posture.

Options :

1. ® The discovery of the Siva linga has thrown light on the

2. ¥ religious practices of Neolithic civilisations during who people used to worship idols of
3. # Gods and Goddesses in standing posture.

4. ® No Error

Question Number : 124 Question Id : 97675513872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It was established on the plain and built accordingly / to a grid plan interpreted in the / light of Vedic architecture.
Options :

1. ¥ It was established on the plain and built accordingly

2. # to a grid plan interpreted in the

3. # light of Vedic architecture.

4. % No Error

Question Number : 124 Question Id : 97675513872 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

It was established on the plain and built accordingly / to a grid plan interpreted in the / light of Vedic architecture.
Options :

1. ¥ It was established on the plain and built accordingly

2. # to a grid plan interpreted in the

3. % light of Vedic architecture.

4. % No Error

Question Number : 125 Question Id : 97675513873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The difference between a cartoonist and an illustrator is the same as the difference between a comedian and a comedy actor—(the first of those)
deliver their own lines and take full responsibility for them, the latter could always hide behind the fact that it was not his entire creation.

Options :
1. # the first both



2. % the former both
3. # the first and the second of them

4. # no correction required

Question Number : 125 Question Id : 97675513873 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The difference between a cartoonist and an illustrator is the same as the difference between a comedian and a comedy actor—(the first of those)
deliver their own lines and take full responsibility for them, the latter could always hide behind the fact that it was not his entire creation.

Options :

1. # the first both

2. ¥ the former both

3. % the first and the second of them

4. # no correction required

Question Number : 126 Question Id : 97675513874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Drought affect food production and human society, so (these are being considered a) disaster, of natural, supernatural or human cause.
Options :

1. ¥ they are considered a

2. # they have to be considerated a

3. * these are considered an

4. % no correction required

Question Number : 126 Question Id : 97675513874 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Drought affect food production and human society, so (these are being considered a) disaster, of natural, supernatural or human cause.
Options :

1. ¥ they are considered a

2. # they have to be considerated a

3. * these are considered an

4. # no correction required

Question Number : 127 Question Id : 97675513875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Any tree can be used for pulp-making, coniferous trees (are ought to be used) because the cellulose fibres in the pulp of these species are longer,
and therefore make stronger paper.

Options :

1. # are never taken
2. # while being used
3. % are preferred

4. # no correction required

Question Number : 127 Question Id : 97675513875 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Any tree can be used for pulp-making, coniferous trees (are ought to be used) because the cellulose fibres in the pulp of these species are longer,
and therefore make stronger paper.

Options :



1. # are never taken
2. # while being used
3. % are preferred

4. # no correction required

Question Number : 128 Question Id : 97675513876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The Food and Agriculture Organization of the United Nations estimates that in coming decades, cropland (would be continuing to be lost to)
industrial and urban development, along with reclamation of wetlands, and conversion of forest to cultivation, resulting in the loss of biodiversity
and increased soil erosion.

Options :

1. ¥ will continue to be lost to

2. % would continuing to be losing to
3. % will be continuing to lose

4. # no correction required

Question Number : 128 Question Id : 97675513876 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

The Food and Agriculture Organization of the United Nations estimates that in coming decades, cropland (would be continuing to be lost to)
industrial and urban development, along with reclamation of wetlands, and conversion of forest to cultivation, resulting in the loss of biodiversity
and increased soil erosion.

Options :

1. ¥ will continue to be lost to

2. % would continuing to be losing to
3. % will be continuing to lose

4. # no correction required



Question Number : 129 Question Id : 97675513877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

It takes something more than words to them to do our will, to cover us with glory.
Options :

1. * dissuade

2. ¥ cajole

3. % prorate

4. % counsel

Question Number : 129 Question Id : 97675513877 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

It takes something more than words to them to do our will, to cover us with glory.
Options :

1. *= dissuade

2. ¥ cajole

3. #* prorate

4. % counsel

Question Number : 130 Question Id : 97675513878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Of all her Court ladies I was the most youthful and, perhaps, the most
Options :

1. #* indiscernible



2. # imperceptible
3. % conspicuous
4. # shadowy

Question Number : 130 Question Id : 97675513878 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Of all her Court ladies I was the most youthful and, perhaps, the most
Options :

1. # indiscernible

2. % imperceptible

3. % conspicuous

4. % shadowy

Question Number : 131 Question Id : 97675513879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

Not that he took little interest in it, but it had no power to absorb and him.
Options :

1. * monopolize

2. # swallow

3. % disgrace

4. ¥ engross

Question Number : 131 Question Id : 97675513879 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.



Not that he took little interest in it, but it had no power to absorb and him.
Options :

1. #* monopolize

2. # swallow

3. % disgrace

4. ¥ engross

Question Number : 132 Question Id : 97675513880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

A low hot wind began to rise, and fan his cheek with pestiferous kisses, and his frame with its poisonous embrace.
Options :

1. # enfleurage

2. ¥ enervate

3. % silicify

4. % stellify

Question Number : 132 Question Id : 97675513880 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

A low hot wind began to rise, and fan his cheek with pestiferous kisses, and his frame with its poisonous embrace.
Options :

1. # enfleurage

2. ¥ enervate

3. % silicify

4. # stellify

Question Number : 133 Question Id : 97675513881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

What a pity that they are as as the bloom of these flowers and the fragrance they exhale!
Options :

1. ¥ evanescent

2. % lasting

3. % imperishable

4. # perdurable

Question Number : 133 Question Id : 97675513881 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

What a pity that they are as as the bloom of these flowers and the fragrance they exhale!
Options :

1. ¥ evanescent

2. # lasting

3. % imperishable

4. # perdurable

Question Number : 134 Question Id : 97675513882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

One may what he only holds in trust; he shares what is his own.
Options :

1. #* appropriate

2. % appellate

3. ¥ apportion

4. % apply



Question Number : 134 Question Id : 97675513882 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

One may what he only holds in trust; he shares what is his own.
Options :

1. * appropriate

2. * appellate

3. % apportion

4. % apply

Question Number : 135 Question Id : 97675513883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Aqua regia

P: because, in combination,

Q: though neither constituent acid will do so alone,
R: each acid performs a

S: dissolves gold,

different task.
Options :

1. ¥ RPQS
2. % SRQP
3. % QSPR
4. ¥ SQPR

Question Number : 135 Question Id : 97675513883 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Aqua regia

P: because, in combination,

Q: though neither constituent acid will do so alone,
R: each acid performs a

S: dissolves gold,

different task.
Options :

1. # RPQS
2. % SRQP
3. % QSPR
4. ¥ SQPR

Question Number : 136 Question Id : 97675513884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

This doesn’t

P: but it does happen. And when it does,
Q: happen very often,

R: to understand which one

S: you need to know both meanings

is being used.
Options :

1. % QPRS
2. % QRPS
3. ¥ QPSR



4. % RQPS

Question Number : 136 Question Id : 97675513884 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

This doesn’t

P: but it does happen. And when it does,
Q: happen very often,

R: to understand which one

S: you need to know both meanings

is being used.
Options :

1. ® QPRS
2. % QRPS
3. % QPSR
4. % RQPS

Question Number : 137 Question Id : 97675513885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Larceny laws

P: of another with the

Q: intent to permanently deprive the owner

R: to which larceny involves the trespassory taking and carrying away of the tangible personal property

S: in the United States have their roots in common law, pursuant

of its possession.



Options :

1. # SRQP
2. ¥ SRPQ
3. ¥ SPQR
4. % SPRQ

Question Number : 137 Question Id : 97675513885 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

Larceny laws

P: of another with the

Q: intent to permanently deprive the owner

R: to which larceny involves the trespassory taking and carrying away of the tangible personal property
S: in the United States have their roots in common law, pursuant

of its possession.
Options :

1. % SRQP

2. ¥ SRPQ

3. ¥ SPQR

4. % SPRQ

Question Number : 138 Question Id : 97675513886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The prisoners in India

P: lack of proper medical facilities and consistent risk of torment



Q: kitchens are congested and unhygienic and the diet has remained unchanged
R: suffer from severe unhygienic conditions,
S: and misuse. The

for years now.
Options :

1. ¥ QSPR
2. % QRPS
3. ¥ RPSQ
4. ¥ RSPQ

Question Number : 138 Question Id : 97675513886 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

The prisoners in India

P: lack of proper medical facilities and consistent risk of torment

Q: kitchens are congested and unhygienic and the diet has remained unchanged
R: suffer from severe unhygienic conditions,

S: and misuse. The

for years now.
Options :

1. # QSPR
2. % QRPS
3. ¥ RPSQ
4. % RSPQ

Question Number : 139 Question Id : 97675513887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.



METICULOUS
Options :

1. # UNDEMANDING
2. # CARELESS

3. ¥ IMPECUNIOUS
4. ¥ CONSCIENTIOUS

Question Number : 139 Question Id : 97675513887 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

METICULOUS
Options :

1. ¥ UNDEMANDING
2. % CARELESS

3. ¥ IMPECUNIOUS
4. ¥ CONSCIENTIOUS

Question Number : 140 Question Id : 97675513888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is the opposite meaning (ANTONYM) to the word given below.

ABSCOND
Options :

1. ¥ ABSTAIN
2. % FADE

3. % APPEAR
4. % DESPOND

Question Number : 140 Question Id : 97675513888 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word that is the opposite meaning (ANTONYM) to the word given below.

ABSCOND
Options :

1. # ABSTAIN
2. % FADE

3. % APPEAR
4. % DESPOND
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Group Marks :
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Section Marks :
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976755812
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Question Shuffling Allowed : Yes

Question Number : 141 Question Id : 97675513889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

AMENABLE

Options :

1. %# RECALCITRANT
2. ¥ AGREEABLE

3. ¥ INTRACTABLE
4. % OBDURATE

Question Number : 141 Question Id : 97675513889 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

AMENABLE

Options :

1. # RECALCITRANT
2. ¥ AGREEABLE

3. ¥ INTRACTABLE
4. % OBDURATE

Question Number : 142 Question Id : 97675513890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.



ELICIT
Options :

1. ¥ WREST
2. % SOOTHE
3. % PLACATE
4. % COVER

Question Number : 142 Question Id : 97675513890 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

ELICIT
Options :

1. ¥ WREST
2. % SOOTHE
3. ¥ PLACATE
4. % COVER

Question Number : 143 Question Id : 97675513891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

PARADIGM
Options :

1. ¥ ACUMEN

2. % MOIETY

3. ¥ EXEMPLAR
4. % PECUNIARY

Question Number : 143 Question Id : 97675513891 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the word that is closest in meaning (SYNONYM) to the word given below.

PARADIGM
Options :

1. ¥ ACUMEN

2. ¥ MOIETY

3. ¥ EXEMPLAR
4. ¥ PECUNIARY

Question Number : 144 Question Id : 97675513892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PROTEEN

2. % PROTIEN

3. % PROTEIN

4. % PROTIN

Question Number : 144 Question Id : 97675513892 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % PROTEEN

2. % PROTIEN

3. ¥ PROTEIN

4. % PROTIN

Question Number : 145 Question Id : 97675513893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ACCESSION

2. ®* ACESSION

3. ¥ ACEESSION

4. % ACESION

Question Number : 145 Question Id : 97675513893 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ ACCESSION

2. % ACESSION

3. ¥ ACEESSION

4. # ACESION

Question Number : 146 Question Id : 97675513894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CAMRADRIE

2. ¥ CAMARADERIE

3. # CAMRADEIRE

4. ¥ CAMRADERIE

Question Number : 146 Question Id : 97675513894 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ CAMRADRIE

2. ¥ CAMARADERIE

3. # CAMRADEIRE

4. ¥ CAMRADERIE

Question Number : 147 Question Id : 97675513895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PALCHRITUDE

2. % PULCHRITUDE

3. % PULSHRITUDE

4. % PALSHRITUDE

Question Number : 147 Question Id : 97675513895 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ PALCHRITUDE

2. % PULCHRITUDE

3. ¥ PULSHRITUDE

4. % PALSHRITUDE

Question Number : 148 Question Id : 97675513896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



"The ball is in your court".

Options :

1. ® You should finish what you started.
2. ¥ It's your decision.

3. # To give a warm handshake.

4. ® Telling someone that they are worthless.

Question Number : 148 Question Id : 97675513896 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"The ball is in your court".

Options :

1. #® You should finish what you started.
2. ¥ It's your decision.

3. # To give a warm handshake.

4. ® Telling someone that they are worthless.

Question Number : 149 Question Id : 97675513897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Spill the beans".

Options :

1. # To loose the hold of the situation.
2. # To give away an opportunity.

3. # To drop an expensive article .

4. ¥ To give away a secret.

Question Number : 149 Question Id : 97675513897 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Spill the beans".

Options :

1. # To loose the hold of the situation.
2. % To give away an opportunity.

3. # To drop an expensive article .

4. ¥ To give away a secret.

Question Number : 150 Question Id : 97675513898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Take a rain check".

Options :

1. ¢ Postpone a plan.

2. % Having a hold of the situation.
3. % Things that do not matter.

4. # Being sure about everything.

Question Number : 150 Question Id : 97675513898 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

"Take a rain check".

Options :

1. ¥ Postpone a plan.

2. # Having a hold of the situation.
3. % Things that do not matter.

4. % Being sure about everything.



Question Number : 151 Question Id : 97675513899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"The best thing since sliced bread".
Options :

1. # Things of daily importance.
2. # Things of less importance.

3. % A really good invention.

4. # Not being good at anything.

Question Number : 151 Question Id : 97675513899 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given phrase.

"The best thing since sliced bread".
Options :

1. # Things of daily importance.
2. % Things of less importance.

3. ¥ A really good invention.

4. % Not being good at anything.

Question Number : 152 Question Id : 97675513900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"causing or having a very sharp feeling of sadness."
Options :
1. # FUCHSIA



2. ¥ POIGNANT
3. ¥ FUSION
4. % FISSION

Question Number : 152 Question Id : 97675513900 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"causing or having a very sharp feeling of sadness."
Options :

1. # FUCHSIA

2. ¥ POIGNANT

3. % FUSION

4. % FISSION

Question Number : 153 Question Id : 97675513901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"a speech, piece of writing, poem, etc. containing great praise, especially for someone who recently died or retired from work".
Options :

1. ¥ BALLAD

2. % ODE

3. ¥ EULOGY

4. ¥ SONNET

Question Number : 153 Question Id : 97675513901 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.



"a speech, piece of writing, poem, etc. containing great praise, especially for someone who recently died or retired from work".
Options :

1. ¥ BALLAD

2. % ODE

3. ¥ EULOGY

4. % SONNET

Question Number : 154 Question Id : 97675513902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"affectedly grand, solemn, or self-important."
Options :

1. # SULLY

2. # DEMURE

3. ¥ UNPRETENTIOUS

4. ¥ POMPOUS

Question Number : 154 Question Id : 97675513902 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"affectedly grand, solemn, or self-important."
Options :

1. % SULLY

2. % DEMURE

3. ¥ UNPRETENTIOUS

4. ¥ POMPOUS

Question Number : 155 Question Id : 97675513903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"to make unclean or impure".
Options :

1. ¥ DEFILE

2. ¥ ENCUMBERED

3. # LIMERICK

4. ¥ CRAMP

Question Number : 155 Question Id : 97675513903 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

"to make unclean or impure".
Options :

1. ¥ DEFILE

2. % ENCUMBERED

3. % LIMERICK

4. ¥ CRAMP

Sub-Section Number : 2
Sub-Section Id : 976755954
Question Shuffling Allowed : Yes

Question Id : 97675513904 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

To rise like a phoenix from the ashes means to emerge from a catastrophe stronger, smarter and more powerful. An example of rising like a
phoenix from the ashes is someone who opens a new, successful business after his previous business has failed. Another example is someone
who builds a new house after his previous house has been destroyed in a tornado. The phoenix bird is a mythical bird from Greek mythology. It



was a feathered creature of great size with talons and wings, its plumage radiant and beautiful. The phoenix lived for 500 years before it built its
own funeral pyre, burst into flame, and died, consumed in its own fiery inferno. Soon after, the mythical creature rose out of the ashes, in a
transformation from death to life. This story of becoming born again predates the story of the phoenix rising from the ashes. A counterpart to the
phoenix is the Bennu of Egyptian mythology, which was a large heron venerated in Heliopolis, Egypt. The fenghuang is a Chinese bird often
depicted with fire balls. The feathers of the Russian firebird emit light, and is often the subject of quests in folklore. Christianity adopted the
depiction of the phoenix rising from the ashes as a symbol of rebirth and eternal life. The classical, mythical imagery and symbolism of
resurrection, of life reborn anew and transformed, resonated with the Christian story. The phrase rise like a phoenix from the ashes is often
shortened to rise like a phoenix, or even rise from the ashes. Related phrases are rises like a phoenix from the ashes, rose like a phoenix from the
ashes, risen like a phoenix from the ashes, rising like a phoenix from the ashes. Note that the word phoenix is spelled with a lowercase letter.
When capitalized, as in Phoenix, the term is the name of a city in Arizona, United States.

Sub questions

Question Number : 156 Question Id : 97675513905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Phoenix ?

Options :

1. % A fiery bird.

2. % A metaphor for charm.

3. % A city in United States.

4. # A character in John Keat's poems.

Question Number : 157 Question Id : 97675513906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The idea of the bird is derived from which part of the world ?
Options :

1. # Romania

2. ¥ Greece

3. # Greenland

4. # Colombia

Question Number : 158 Question Id : 97675513907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Why is the Russian firebird compared to a phoenix?

Options :

1. ® Because the Russian firebird lays eggs which only hatch when kept in fire.
2. % Because the eyes of the Russian firebird light up at night.

3. % Because the Russian firebird's tail is made of a long single flame.

4. ¥ Because the feather of Russian firebird emit light.

Question Number : 159 Question Id : 97675513908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not as closely related to the others ?
Options :

1. #® Resurrection

2. % Transformation from death to life.

3. % Emerge from a catastrophe stronger, smarter and more powerful.

4. % Rebirth, life reborn anew and transformed.

Question Number : 160 Question Id : 97675513909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The phrase "To rise like a phoenix from the ashes" is a
Options :

1. ¥ Onomatopoeia

2. ¥ Simile

3. % Hyperbole

4. # Synecdoche

Question Id : 97675513904 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (156 to 160)
A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four



alternatives.

To rise like a phoenix from the ashes means to emerge from a catastrophe stronger, smarter and more powerful. An example of rising like a
phoenix from the ashes is someone who opens a new, successful business after his previous business has failed. Another example is someone
who builds a new house after his previous house has been destroyed in a tornado. The phoenix bird is a mythical bird from Greek mythology. It
was a feathered creature of great size with talons and wings, its plumage radiant and beautiful. The phoenix lived for 500 years before it built its
own funeral pyre, burst into flame, and died, consumed in its own fiery inferno. Soon after, the mythical creature rose out of the ashes, in a
transformation from death to life. This story of becoming born again predates the story of the phoenix rising from the ashes. A counterpart to the
phoenix is the Bennu of Egyptian mythology, which was a large heron venerated in Heliopolis, Egypt. The fenghuang is a Chinese bird often
depicted with fire balls. The feathers of the Russian firebird emit light, and is often the subject of quests in folklore. Christianity adopted the
depiction of the phoenix rising from the ashes as a symbol of rebirth and eternal life. The classical, mythical imagery and symbolism of
resurrection, of life reborn anew and transformed, resonated with the Christian story. The phrase rise like a phoenix from the ashes is often
shortened to rise like a phoenix, or even rise from the ashes. Related phrases are rises like a phoenix from the ashes, rose like a phoenix from the
ashes, risen like a phoenix from the ashes, rising like a phoenix from the ashes. Note that the word phoenix is spelled with a lowercase letter.
When capitalized, as in Phoenix, the term is the name of a city in Arizona, United States.

Sub questions

Question Number : 156 Question Id : 97675513905 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is Phoenix ?

Options :

1. # A fiery bird.

2. % A metaphor for charm.

3. % A city in United States.

4. # A character in John Keat's poems.

Question Number : 157 Question Id : 97675513906 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The idea of the bird is derived from which part of the world ?
Options :

1. # Romania

2. ¥ Greece

3. % Greenland

4. # Colombia



Question Number : 158 Question Id : 97675513907 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Why is the Russian firebird compared to a phoenix?

Options :

1. ® Because the Russian firebird lays eggs which only hatch when kept in fire.
2. % Because the eyes of the Russian firebird light up at night.

3. % Because the Russian firebird's tail is made of a long single flame.

4. ¥ Because the feather of Russian firebird emit light.

Question Number : 159 Question Id : 97675513908 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not as closely related to the others ?
Options :

1. ® Resurrection

2. % Transformation from death to life.

3. % Emerge from a catastrophe stronger, smarter and more powerful.

4. % Rebirth, life reborn anew and transformed.

Question Number : 160 Question Id : 97675513909 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the appropriate word.

The phrase "To rise like a phoenix from the ashes" is a
Options :

1. ¥ Onomatopoeia

2. ¥ Simile

3. % Hyperbole

4. # Synecdoche
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Question Number : 161 Question Id : 97675513910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy &1 a7 &2 oY fha1 & Ne are I8! fab e gl
H1feieh 3 Tl T HTH BRI

Options :




1. ® QdpIicid fopd
2.« TROTe fopa
3. % AHYrd fobar

4. % dlahlicie fobal

Question Number : 161 Question Id : 97675513910 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 8, IR fadwedl & 9, 39 fddhed &1 99+ &3 Sl fobal & Vg arell gl [ddbed 51|
qTferes 3 MBI F HTH HIAM|

Options :

1. % QAPIaIdD fohdl

2. ¢ TR fopa

3. % Ammyrg foean

4. % dlhlicie febal

Question Number : 162 Question Id : 97675513911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad Uy &, IR fawedl § 9, 39 fadhed &1 9a &< it [T T aTy & foTT 31eqd & Ug o1 Het fadbed 8|
R e 1R et SiaH @ |

Options :

1. % foparfarivur sfeqg

2. ¥ HEGEYD 3T

3. % fawarieatys s/eug

4. % YYD 3T

Question Number : 162 Question Id : 97675513911 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeiRad Uy H, IR fadwedl 7 9, 39 fadey &1 994 &3 o) feTU TN a1 & folu 3/eqy & He &1 I8! f[awed gl



Rl Femar SR deft Siaq |
Options :

1. % foarfoRivor ooy

2. ¥ HEGEIYD 3y

3. % fowarfdaiys soqg

4. % GEYAIUD g

Question Number : 163 Question Id : 97675513912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol gy o, IR fawed! # 9, 39 [9ded &1 997 &< ol HIgdTad U311 &1 gl [ddbed 7ol o
Options :

1. % 3EDPR

2. % Bl

3. % 9™

4.« faud

Question Number : 163 Question Id : 97675513912 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofafed gy o, IR fawed! o 9, 39 [9oed &1 997 &< ol HIaarad U3 &1 Hal [ddhed ol o
Options :

1. % 3EHR

2. % Bl

3. % 9cH

4.« fqud

Question Number : 164 Question Id : 97675513913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaied vy H, IR fowdl 7 9, 39 fdded &1 997 & ol DIFH H QT U Xeg & SUR Fa-H & U &1 ! [dbed 8l




TS (PI) T Hra= 3mam T
Options :

1. % ASara®

2. ® g qrIPH

3. % 30 3N

4. ¢ YT dTaIdD

Question Number : 164 Question Id : 97675513913 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawed 1999 &2 ol HIFH | AT T Ueg & AR J4TH & U &1 Gl fadbed 8|
3TN (PI) THY Aa smar T

Options :

1. % fASTaras

2. % JH dlddh
3. % 3OH 03N

4. ¢ YT D

Question Number : 165 Question Id : 97675513914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 fawed &1 99 &< S dIgd U fU 7T Wsq & UR fa=Iw0r o Ug arell f[dshed gl
(W) = WA R B

Options :

1. % QS

2. ® 3HffEyd afATr AR

3. % [Afyd G=mars

4. ¥ UETED

Question Number : 165 Question Id : 97675513914 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR famedl O T, 39 fawed &1 o9 &< S DIged T faU 71U Wsq & SUR fa=0r o& Ug arell f[ddhed gl
(W) 9= WA 3B o

Options :

1. % QraATHS

2. % IR gfaTo AR

3. % g Yemars

4. ¢ TUIETES

Question Number : 166 Question Id : 97675513915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fowedl & T, 39 fAhey &1 709 B3 S SIS Ve BT Tt [dhey 1|
Options :

1. ®* HgH

2. % fgmd

3. # dIaR

4. ¥ JUID

Question Number : 166 Question Id : 97675513915 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy &, IR et § 9, 39 f9hcd o1 I8 B O SXIol Ueg b1 et f[dbed gl
Options :

1. ¥ HRgH

2. % fgwrd

3. % dlaR

4. ¢ JUID

Question Number : 167 Question Id : 97675513916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

e uy §, IR el § 9, 39 fased &1 98 &3 off foT T4 Weg & T TE) Tqey JH & 398 o1 fawea gl
Options :

1. ¥ YH H[ IR

2. % I 3R IGR

3. % U 8 IGR

4. % Y Y IGR

Question Number : 167 Question Id : 97675513916 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frgfeRad us H, IR fasedl | 4, 39 fahed &1 =90 B Sl {dT 7T Yeg & fo1T At deqey FH™ & 498 &1 fdhed 51|

Options :

1. ¥ UYH P S&R

2. % I 3R IGR
3. % Y S SGR
4. % YA Y ISR

Question Number : 168 Question Id : 97675513917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferiad Uy , IR fadedl # 9, I [dbed &1 997 &< Wil fAT 71T Teg BT THH FU T
TR

Options :
1. % Y
2. % 1Y
3. ¢ MyA
4. % TR



Question Number : 168 Question Id : 97675513917 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faferRad Uy #, IR fadedl 7 9, 39 fdded &1 997 &< Wil fAU 71T Weg &1 A FUF

Options :
1. % Y
2.% 7Y
3. ¢ TYH
4. % TR

Question Number : 169 Question Id : 97675513918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy & IR fowddl 7 9, 39 fahe &1 9a7 3 oY 3T 77U Mee & vafgare) Wec &1 Ue! fawed 78l ¢ |

Options :
1. % favre
2. v fag
3. % dedq
4. % g

Question Number : 169 Question Id : 97675513918 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁﬁaﬁr@au&rﬁ,mﬁwﬁﬁﬁ,wﬁwmwﬁﬁ%&mw%wﬁaﬁwwﬁﬁwﬁ% |

Options :
1. % faR1e
2. ¢ farg
3. % doq



4. % e

Question Number : 170 Question Id : 97675513919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed uy §, IR el 7 9, 39 fahcd &1 987 & o fAdiH Wsg &1 e 331 faheu g |
ot

Options :
1. # 3HeY
2. % f¥U
3. % 7]
4. ¢ ad

Question Number : 170 Question Id : 97675513919 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafad uy 7, IR e & 3, 39 9wy &1 T B o {9 e T a9 33T fAb ey g |
ot

Options :
1. % Y
2. % U
3. % 7]%
4, ¥ dd

Question Number : 171 Question Id : 97675513920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafRad Uy |, IR [ddwedl 7 ¥, 39 el f[dmed &1 99+ 3 Sl IR o o7 U e, ol [ddhed ol |
St forddt w1 Uer A )

Options :




1. T
2. % Bt
3. % fRdw
4. % 3T

Question Number : 171 Question Id : 97675513920 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FfaRed Uy |, IR [ddeul 7 ¥, 39 8! f[dmed &1 I9- B3 Sl dIaiR & o7 U Xeg, &l [ddhed Bl |
S foblt 1 U AT

Options :

1. ¥ dc¥
2. % it
3. % FRY®
4. % Ulqg

Question Number : 172 Question Id : 97675513921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferied Uy , IR fadbedl 7 9, 39 Ig! fdehed o1 90 &3 off faU U W & Tt 312 o1 Iferd fdved gl
EEN

Options :

1. ® YHIh S

2. % QS

3. ¢ g1l

4. % TRIq

Question Number : 172 Question Id : 97675513921 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofead Uy & IR fobedl & T, 39 I8 fahed o1 99 B3 o fau 74 T & Tg) 31 71 Ifd fabeu 7



PHoR
Options :

1. ®* YHID S
2. % GHEEGRI
3. ¢ gl

4. % T

Question Number : 173 Question Id : 97675513922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 98! fawed &1 99+ &3 o Rad R & o Iuged Uss &1 el fdwe g |
R FHH HH BT 3R T |

Options :
1. % Srd
2. ¥ THIUD
3. % FIdd
4, % 3P

Question Number : 173 Question Id : 97675513922 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy &, aR fowedl § 9, 39 98! fawed &1 79+ 3 ot Rad R & ot Iuged Uss &1 Ual fawea g |
REIE| SHH TTHT D1 3R o4 |

Options :
1. % Sd
2. ¥ UplUp
3. % AR
4, % JgXMR

Question Number : 174 Question Id : 97675513923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, TR fowedl § 9, 39 fawe &1 999 &3 o Y Ve &1 Ta! [dbed 7
Options :

1. % forsrg

2. % i

3. % fiiqey

4. « fordong

Question Number : 174 Question Id : 97675513923 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o, TR fawet § 9, 39 fawey &1 7o &L Sl Y e &1 Tal fadwea 7
Options :

1. % forsrg

2. % fiy

3. % ooy

4. ¢ fodeqg

Question Number : 175 Question Id : 97675513924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad vy 5, IR fawedl § 9, 39 f[ddhed &1 999 o Il YG Xeg & ol f[ddhed g
Options :

1. % 3fyfr

2. % YT

3. ¢ Ui

4. % STt

Question Number : 175 Question Id : 97675513924 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



frafeied us o, IR fadwedl O 9, 39 [dwed &1 7897 1 Al Y eg 1 ol [Ahed 5
Options :

1. % 3fYFTt

2. % YT

3. « Jryffie

4. % 3G

Question Number : 176 Question Id : 97675513925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy H, IR fowddl 7 9, 39 fdwey &1 987 3 o AT T8 Xreg & Fumnff 2reg &1 fawed 71 81
Bad -

Options :

1. % 94

2.¥dg

3. % fgg

4. % RN

Question Number : 176 Question Id : 97675513925 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafaRed Uy &, IR fawedl § 9, 39 fadhed &1 984 &1 ol U T Weg & JAFN eg &1 fadwed 181 5|
Bad -

Options :

1. % 94

2.¥dq

3. % fgg

4. % RN

Question Number : 177 Question Id : 97675513926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
ﬁa%rq@au%ﬁ,mﬁﬂﬁﬁ,ww fAdhed BT 99 B Sl faU U Wsa-gH & 31 &1 gl fadbed gl
Ug Uc

Options :

1. ¢ AT 3R HUS]
2. % fIdr 3R HUST
3. % Jee] 3R ufad

4. % q&A] 3R g

Question Number : 177 Question Id : 97675513926 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy o, aR fowed! & 1, 39 98! [ddwed &1 9+ 3 off 4T T Weg-H & 31 &1 ol f[ddhed g
Ug 3R U

Options :

1. ¢ T&AT 3R HYS]

2. % fRiar SR HUS]

3. % el 3R ufed

4, % T 3R FHME

Question Number : 178 Question Id : 97675513927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frafifead Uy B, IR faeedl § O, 39 faded &1 999 &1 ol Ged WifelT ¥ arel fddbed g

Options :
1. % JUPR
2. % PR
3. ¥ g4I
4. % q1d



Question Number : 178 Question Id : 97675513927 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifed Uy &, IR i edl 7 9, 39 9 &1 I8 &Y oY Tad TWifell] U Tl fased g |

Options :
1. # 3UPR
2. % DIRA
3.9 Y[
4. % 9-ld

Question Number : 179 Question Id : 97675513928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawed &1 999 &3 Sl Yed dgad- Weg BT Tay 33T fadhed g |
Options :

1. % dd

2. % Y

3. ¢ 3&d

4, % Ydl

Question Number : 179 Question Id : 97675513928 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

oy & IR el & 9, 39 fawed &1 997 &3 S Wed Sgas Ve &l Jad 33T [Jbed 2|
Options :

1. % dd

2. % Il

3. ¢ 3&d

4, % Ydl



Question Number : 180 Question Id : 97675513929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

?ﬁ@ﬁt{%ﬁ,ﬂl‘{ﬁﬂﬁ@r,w feb e o1 =T bR Sl HIgeh H fAT 71T Teg & SFTAR 37 &Y dTeich HA-TH BT Tad 37T fdebed
|

Options :

1. % (q2) 9 999 & T 3hal 81 &1 8

2. ¢ (319 T1d BT g P T TSI g

3. % @R T ot 90 T 8T 3 @1 5|

4. % (W) 9gd &= U g1 MU BT

Question Number : 180 Question Id : 97675513929 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gmﬁf@?ru&rﬁ,mﬁmq‘fﬁﬁ,wiaqwmqqﬂ B S HIFP A 3T T et o AR 3= T3 AP G910 BT Jay 331 [qdheq
|

Options :

1. * (3 T THY & [T 3hd € 13|

2. ¢ (3 91d HIAT g & I I g

3. % @AR) T ot 9ug § 98T 3@ 5|

4. % (W) 9gd o= U T MU BN

General Hindi2
Group Number : 10
Group Id : 976755477
Group Maximum Duration : 0
Group Minimum Duration : 120
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0

Group Marks : 20



Is this Group for Examiner? : No

General Hindi2
Section Id : 976755814
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 976755956
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 97675513930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fadwedl 7 9, 39 fddhed &1 999 &2 o1 fGT TN a1 & &1d &1 ol [dded ol |
gg TSt @rdT ol H < ST

Options :

1. % YU JaHHDId
2. ¥ Bded HG HdbId
3. % g HidDhTd

4. % I YIBTA

Question Number : 181 Question Id : 97675513930 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRed Uy |, IR fadwedl 7 9, 34 fddhed &1 999 &2 o1 fGT TN 9190 & &1d &1 ol [dwed ol
Ig TS AraT at & I ST




Options :

1. % YU JaaHDId
2. ¥ Bded UG YddTd
3. % g Yioserd
4. % 3T YdPTd

Question Number : 182 Question Id : 97675513931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawet § 9, 39 fawey &1 7o &3 S fou T8 are & e gfy & e &1 9e o1 fdsed g |
YJ § 31T HTaTStt 3T

Options :

1. % ard

2. % Hagrd

3. ¢ Jurad

4. % fgemd

Question Number : 182 Question Id : 97675513931 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad Uy &, IR fawed § 4, 39 fadhed &1 98 &< off U T8 a1 & o 3 & Ug &1 qa 33T faded ¢ |
TG g STl ATl 37T

Options :

1. % Hopard

2. % Hagrd

3. ¢ FyTaId

4. % faemd

Question Number : 183 Question Id : 97675513932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



fFufafad vy A, IR fowedl ° T, 39 fased &1 T B3 Sl U 770 9199 & ol Uel & He o Tad <31 fawbeu 5|
AR fora gtan Md M RET 8!

Options :

1. ¢ FAAAY®
2. % AgdEds
3. % Jfadide
4. % IRHAdH

Question Number : 183 Question Id : 97675513932 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR ieedl 7 9, 39 fahcd o1 987 &% ot feU 7T 9/ & ol u&i & Ve 1 9ad 331 fapeu g |
AR fora gtan Md M RET 8!

Options :

1. ¢ AU
2. % fgdEds
3. % Jfaaide
4. % IMYIYdPH

Question Number : 184 Question Id : 97675513933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifed uy §, IR el 7 9, 39 faweu &1 97 &% St Ta! a1a U &1 fdweu gl
(G-I TG 7T 3R QAT 3T 77|

Options :

1. % fy g

2.« Ggad IR

3. % [NYdTEI® ared
4. % TR dqIH

Question Number : 184 Question Id : 97675513933 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

foffad uy §, IR el 7 9, 39 faweu &1 997 &% St Tal a1ad Ve &1 fabeu gl
(G-I TG 7T 3R QAT 3T 77|

Options :

1. % fy g

2.« Ggad IR

3. % [NYdTEID ared
4. % TR dqIH

Question Number : 185 Question Id : 97675513934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafifed gy o, IR fawed! # 9, 39 [dded &1 997 &< ol el ald He $ fadbed gl
T & 3t U e s ar fopR ot 39w U et o |

Options :

1. ¢ Tgad qIrd

2. % Ay IR

3. % fayaTEs a1

4, ® A I

Question Number : 185 Question Id : 97675513934 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad v A, IR fawedl § 9, 39 fdswed &1 9gd &3 &l Ta! a1 He &l f[dwed gl
Tl & STl TR S a1 fohR w1t S U =@l o |

Options :

1. ¢ ggad I

2. % Ty arey

3. % fayMaras are

4. % I IR




Question Number : 186 Question Id : 97675513935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR fadwedl 7 ¥, 39 fdwed &1 999 &3 1l el d1ad He &l f[ddbed gl
i g 39 U it 98 A e |

Options :

1. % [qyTara® a1

2. ® I qTH

3.« Ty are

4. % Hgad AT

Question Number : 186 Question Id : 97675513935 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufoRad Uy |, IR fadedl 7 ¥, 39 fdwed &1 999 &3 1l ol d1ad He &l f[ddbed gl
1 g1 39 U T, 9% g e |

Options :

1. % fgy™ars ardg

2. ® T aqTH

3. ¢ fly argg

4. % gad a1

Question Number : 187 Question Id : 97675513936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 faswey &1 70 &L Sl Y 91 T Ja 3737 fadheu g |
Options :

1. % AT ) Hft I8 99 T SR

2.« AT o 98 99 <1 SR 1

3. % AT Y o U8 99 <1 SR A




4. % AT WR off I8 9 4T 3R G|

Question Number : 187 Question Id : 97675513936 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad ue o, TR fawent § 9, 39 fawey &1 70 &3 Sl Y 91 T Ja 3737 fadheu 3|
Options :

1. % O ! ot I8 9§ gu SR G|

2. ¢ AT 1} U8 I /T 3R

3. % At I8 99 <t 3R I

4. % AT R Wt 98 99 4T SR

Question Number : 188 Question Id : 97675513937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiRad us o, IR fasedl # 9, 39 fddhed &1 9= B Sl fav g god a1 &1 Hal fddbed gl
Options :

1. % TR §¢1 TR HYT AGHHR AT Al - I 2

2. % TR 9, I8 HA1 IGHHR T1EY Al A Y[

3. % TR o, T HU1 IGTHHR T1Y AT A YT |

4. ¢ TR 9 T ST IAGIHHR AT Af A T&T|

Question Number : 188 Question Id : 97675513937 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy 4, aR fowed! & 4, 39 fdewed &1 99+ & Sl fav g goad ot &1 Jal fadbed 3l
Options :

1. ¥ TR ¢ I ST AGGHAR dTeT AT 3 G T 2

2. % TR ST, T HIT ASHHR A1RY Al A B

3. % YR 931, T HuT IGHHR ITeT A 3 U7 |

4.« TR 9 TR ST ISHHAR A" A 3 I37|




Question Number : 189 Question Id : 97675513938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed Uy o, IR fadbedl # 4, 39 fadb ey &1 98 D Wl favH g ot aTe’s &7 Hal [dehed Bl
Options :

1. ¢ SdTd 3 GBI, "$...2" Yorg BT UBR Ff g1 A1iee?

2. % AT A IBT ... YoTT BT AGR 1 g1 =1fe?

3. % AT A IBT $h...2 Y-org BT ISR o} g1 aA1fgW?

4. % AT A GBT- ..., YT FT YGR T g1 =g

Question Number : 189 Question Id : 97675513938 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fowed! & O, 39 fdeed &1 99+ o< Wil fav1 g god a1 &1 dal fadbed 5l
Options :

1. ¢ §dTd A YBT, "2 Y=o BT AR o g1 21fge?

2. % §ATA A YBT H... Yord o1 ABR I g1 AMMRT?

3. % §dTd A BT B2 Y=o & SPR & g1 Aee?

4. % AT A GBI- ..., Yo1g BT AGR T g1 =1fu?

Question Number : 190 Question Id : 97675513939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬁﬁ«r@a%ﬁﬁ,mﬁmﬁﬁ@r,wﬁwmwﬁsﬁﬁqwﬁg@wwmwﬁw%
T HIET -

Options :

1. % g Bl
2. % HAD T
3. % giY =

4. ¢ fodpd gay.



Question Number : 190 Question Id : 97675513939 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa oy & o fawe # ¥, 39 fadwed &1 7 &3 off U 7T Yerear o1 Tet o aran faweu 2|
forgY b1 el -

Options :

I % Geg B
2. % HAD @I
3. % QY A

4. ¢ fodpd gay

Question Number : 191 Question Id : 97675513940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefead vy &, IR fasedl § Q, 39 fasey o1 99 3 off f3U T ggTar &1 we) 31 arefl fased g
I1Y-Bax B! Tfd B -

Options :

1. % TU-gU g1 ST

2. % fI%Id 3gHT B

3. ¢ SO 1 gAY &1 G- BT

4. % Ui USI

Question Number : 191 Question Id : 97675513940 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad ue o, TR fawent § 9, 39 fawey &1 7o &L S fou 78 eTer &1 Iet o aran fawea 71
o DR TR B -

Options :

1. % T9-gU gl STl

2. % fIEId 3gHT B




3. ¢ 3[HSY T gf3YT ) =M ST
4. % OIS gS

Question Number : 192 Question Id : 97675513941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g Uy & IR fawe 7 9, 39 fawen &1 7 o3 off fau 7T gerer o1 9et o aran fawe g
A & BT HARA-

Options :

1. % T & 1 IS

2. % T I

3. % T8 %] Bl U ol
4. ¢ §gd ATdTD gIHT

Question Number : 192 Question Id : 97675513941 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad oy & TR fawe # 9, 39 fadmed &1 7 &3 off U 7T eTer &1 et o aran fawey g |
AdH & BT HARAT-

Options :

1. % T & o1 Usl

2. % QI I

3. % Jo8 9% &l U ol
4. ¢ §gd ATdTD g

Question Number : 193 Question Id : 97675513942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrofefed vy &, IR fddbedl # Q, 3 fased o1 98- B3 ol 1 715 el o1 Fg1 3 drell fasheu |
3T HE o A Hg 7ol o STl -
Options :




1. % HY S aTeh a¥g BV B FHaror Hf Fat g
2. ¢ B 3 fordt &1 Sifgd 8T gran

3. % qUiq: Wadd Xg

4. % {Hdl <ol ! FaHT GiRpd

Question Number : 193 Question Id : 97675513942 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR faded! # 9, 39 [dded &1 997 &< ol < 715 Aiobifad &1 el 3 arefl fadbed g
T H8 o W He el od STl -

Options :

1. % Y < dTelt a¥g P BT AR 1 Bl &

2. ¢ B Y b3t &1 3ffgd 81 gidl

3. % Uiq: XWGoA X

4. % 3t 9 & da giRed

Question Number : 194 Question Id : 97675513943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy 8, IR fowddl 7 9, 39 fdey &1 987 B3 o <1 718 Aipifad o1 et 3 are faseu g1
AP UCH AT § -

Options :

1. % fHdt BT BT A dpTd UM

2. % glayr 4 ge

3. 4 39 U gfg o1 i fdbrg g

4. % Qudtd &

Question Number : 194 Question Id : 97675513943 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofad uy & IR fowedl & T, 39 ey &1 Ta &3 ot <1 71 dipifad &1 Tet 31 arar ey g



ERCA RS AL

Options :

1. % fHdt B &1 Bd dhTd Ul

2. # glayr @ ge

3. ¢ &Y IY T §fG D1 3 [dmr g
4. % oiid »rd

Question Number : 195 Question Id : 97675513944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiad Uy & IR fomedl & T, 39 ey &1 Ta &L ot <1 71 dipifad &1 Tet 3 arar ey g
P T dl @1 AT -

Options :

1. ¢ 3= B T URUMH 35T &1 8ldT 8

2. % ) ot BT 1 Ul fbdt 3R & e
3. % TS DT HTH TS Bl HRAT

4. % Tgd DT HH

Question Number : 195 Question Id : 97675513944 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad uy & IR fowedl § T, 39 fawey &1 T &3 St <1 71 diepifad &1 Tel 3 arar iy g
H 41 a1 T Hal -

Options :

1. ¢ 3wy BT o1 URUMT 35T 8l gl &

2. % {5 ot ST 1 uRoms foadt 3R & e

3. % 3T BT BT TS B BT

4. % Ug<d BT HH

Sub-Section Number : 2

Sub-Section Id : 976755957
Question Shuffling Allowed : Yes




Question Id : 97675513945 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (196 to 200)

3 fou M iR o 91 5 Uy AU TR § | 39 IR ®l ATHYad Ug SR 9R fdwed § ¥ Udd Uy H qaraH SR I |

femardt gow ! R &1 sruta FHaft 8T TEdT | IH B H gaT U AN &1 91 8T 8, S SR § | § 3P Ufd TeTIHfd Udhe A

3R I8 THM & fTE a1 TRgd 8d ] | i, =i iR fagH Rrein udhia & 38wl &1 3g4red fordr § 3R 98-8 Here, i A

3T & TG T P UTE Tl &, FaT SUD! 1d i 3R P! Y137 T THIUH B & ol Id I8 o | o1 fohlt IExa & TREd

IR R YHD! & T I ST 199 el & | fordl g8 a1l &1 faaRyde Juied ¥ gad § U801 =+ &1 A1 S99 g | TS Tll-Joy

%ﬁe{ﬁu@aﬂm@mm@mmﬁs’ql 2 o e T 91d I8 § b UgH1 Fanydes gt sriid 39 fa e &1 9Ha Sugad gian
|

Sub questions

Question Number : 196 Question Id : 97675513946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
foemanrdt goW & U fheeT o Xgdl 62
Options :

1. % Gl Bl

2. ¥ JFER AN B

3. % TR &l

4. % STHYDIS e8!

Question Number : 197 Question Id : 97675513947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=r T 31aTg A aTal SfTal &) IR ) e Hegw i A gl 22
Options :

1. % I Tt Y Sfraeadhe TE At 7

2. % Ig B ST 38T gl Tl ©

3. % QP I At T B ®

4. JD 3% AR I §




Question Number : 198 Question Id : 97675513948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS & TUR 37e0T F1 g2

Options :

1. % ST HRUI o Gedeh| & T Gefe]

2. % foHdd TgT

3. ¢ o g8 9Tl &l fouRYd® gad ¥ g0l Al
4. % $ W Ug oI

Question Number : 199 Question Id : 97675513949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S Y P - 1 Rgr T P R 8
Options :

L. * fagt

2. 9

3. % Uqgfs

Question Number : 200 Question Id : 97675513950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
S TG B Plg IUYd XY P-
Options :

1. % QP! b Ud el

2. ® DT JHIYM

3. % Q| BT 1N

4.« faemardt sfed

Question Id : 97675513945 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No



Question Numbers : (196 to 200)

T foU T MR % 91 5 U AU TR €| S T ) Yd e Ue R OR fded! W U TS Uy BT Farad SR g |

foemard oy & TR &1 3ruTa FHoft 75T e dT | ITDH!T B3 H el U AN &1 a1 81 6, S SR § | 3 39D Ui TeTgHfd Udhe oA

3R I U & foTT el Udd T8 d & | Hia, TR 3R fagH forein Uefa & el &1 3gdreH far § iR §9-93 HeTel, forgia

ST & T[G YGW! B! UTE T Tl §, Tl D! aTd G- 3R ST 137 BT JHTUT B3 & foIE Ied Xgd g | o1 ol 3= & IR

IR R THD! & U Idcd ST 37eq9- Tal & | [ g8 91l &l faaRyd® Yuiey ¥ gad J U8l H34 &I 91 399 § | Td® W-Joy

%ﬁmmmm@mwﬁml g% o T = S1d I8 ¢ b Ug1 Hadqded &l 37iiq 39 Tt A &1 9Hg Sugad aidl
|

Sub questions

Question Number : 196 Question Id : 97675513946 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faemarf 7ov & U fHueT I | 82
Options :

1. % qrfREl &1

2. ¥ 3R AN BT

3. % T &l

4. % AH Y BIS A1

Question Number : 197 Question Id : 97675513947 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fae T 31Ty 3 aTal SHfeaal o) Wt ot el Hegy ot -Tel gl 82
Options :

1. % I el Y Saegeh el TEl Bidt §

2. % Ig T I 3151 el I 8

3. % TP I At TEN B B

4. ¢ 3% 3P AIA Bl §

Question Number : 198 Question Id : 97675513948 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3TSE & AR 37eqg a1 82

Options :

1. % fSFT HRUI & Qedeh! & U Teie

2. % FOgd® Te

3. ¢ fordt g3 91l &1 [oaRyd s gd ¥ U801 =l
4. % $ W ug oI

Question Number : 199 Question Id : 97675513949 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
STH A DM - 91 g Wea &1 faelH &2
Options :

1. * faght

2. ¥ ™

3. * Ao

4, % 3Ydl

Question Number : 200 Question Id : 97675513950 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TG BT B SUGH MP-

Options :

1. % QX! & U Iefcl
2. % bl JHTYT

3. % QI ol Y
4.« faemardt i



